UGC NET 2022 COMPUTER SCIENCE N APPLICATIONS

Topic:- 87_PART_A_Set1

1) In a databsase. a rule is defined as (P1 and P2) or P37 R1 (0.8) and R2 (0.3), where P1, P2, P3
are premizes and R1. R2 are conclusionz of rules with certainty factors (CF) 0.8 and
(.3 respectively. If any running program has produced P1, P2, F3 with CF as 0.5. 0.8,
0.2 respectively, find the CF of results on the basis of premises,

[Question ID = 316][Question Description = 101_87_Computer_Science_0CT22_Q01]
1. CF(R1=0.8), CF (R2=0.3)
[Option ID = 1261]
2. CF (R1=0.40), CF(R2=10.15)
[Option ID = 1262]
3. CF(R1=0.15). CF (R2=10.35)
[Option ID = 1263]

4. CF(R1=0.8). CF(R2=0.35)

[Option ID = 1264]

2) There are three boxes, First box has 2 white, 3 black and 4 red balls. Second box has 3 white.
2 black and 2 red balls. Third box has 4 white. 1 black and 3 red balls. A box is chosen at
random and 2 balls are drawn out of which 1 is white, and 1 13 red. What 1s the probability
that the balls came from first box?

[Question ID = 317][Question Description = 102_87_Computer_Science_0CT22_Q02]

1. 0237

[Option ID = 1265]
2. 0.723

[Option ID = 1266]
3. 0.18

[Option ID = 1267]
4. 0.452

[Option ID = 1268]
3) Consider a memory system having address spaced at a distance of m. T = Bank cycle time

and n number of banks. then the average data accesz time per word access in synchronous

organization is

[Question ID = 318][Question Description = 103_87_Computer_Science_0CT22_Q03]
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[Option ID = 1269]
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[Option ID = 1270]
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[Option ID = 1271]
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[Option ID = 1272]

4.

4)  For multiprocessor system. interconnection network — cross bar switch is an example of
[Question ID = 319][Question Description = 104_87_Computer_Science_0CT22_Q04]
1. Non blocking networl

[Option ID = 1273]
2. Blocking network

[Option ID = 1274]
3. That varies from eonnection to connection

[Option ID = 1275]
4. Recurrent network

[Option ID = 1276]

5 The representation of 4 bit code 1101 into 7 bit. even parity Hamming code 1s
[Question ID = 320][Question Description = 105_87_Computer_Science_0CT22_Q05]
1. (1010101

[Option ID = 1277]
2. (1111001)

[Option ID = 1278]
3. (1011101

[Option ID = 1279]
4. (1110000)
[Option ID = 1280]

6) The number of gate inputs. required to realize expression ABC + ABCD +EF +AD is

[Question ID = 321][Question Description = 106_87_Computer_Science_0CT22_Q06]

1. 12

[Option ID = 1281]

2. 13

[Option ID = 1282]
3. 14

[Option ID = 1283]
4. 15

[Option ID = 1284]



7) Consider a logic gate eivcuit. with 8 input lines (Do, D1 ..... D7) and 3 output lines (Aa. Ay As)

specified by following operations

Ai=D,+D;+D;+D,

A =D;+D,+D; + D,

A, =D +D;+D. + 1,

Where + indicates logical OR operation. This cireuit is
[Question ID = 322][Question Description = 107_87_Computer_Science_0CT22_Q07]
1. 3«8 multiplexer

[Option ID = 1285]
2. Decimal to BCD converter

[Option ID = 1286]
3. Octal to Binary encoder

[Option ID = 1287]
4. Priority encoder

[Option ID = 1288]

8) The total storage capacity of a floppy disk having 80 tracks and storing 128 bytes/sector is
163.840 bytes. How many sectors does this disk have?

[Question ID = 323][Question Description = 108_87_Computer_Science_0CT22_Q08]
1. 97
[Option ID = 1289]
2. 2048
[Option ID = 1290]
3. 4K
[Option ID = 1291]
4. 15

[Option ID = 1292]

9) In a cache memory, if address has 9 bits in Tag field and 12 bits in index field, the size of

main memory and cache memory would be respectively
[Question ID = 324][Question Description = 109_87_Computer_Science_0CT22_Q09]
. 2K. 4K

[Option ID = 1293]
2. 1024K. 2K

[Option ID = 1294]

3. 4K 2048 K

[Option ID = 1295]
4. 048 K. 4 K

[Option ID = 1296]



10)  Consider the primal problem :
Maxnmize z =bxy +12x, +4dx
Subjectto x; + Zx; + x5 =10

21‘1 = xz . K 3.1.'3 == 8
Xp.de.xp =0
1tz dual problem 1s
Mimimize o =10y, +8y,
Subject to ¥, +2y, =25
2y —y.=12
Y+ 3ya =4
Which of the following is correct?
[Question ID = 325][Question Description = 110_87_Computer_Science_0CT22_Q10]

1. ¥, 20, y, unrestricted

[Option ID = 1297]

2. y.=20,5,20

[Option ID = 1298]
3. y,isunrestricted, y, =0

[Option ID = 1299]
4. y,1s unrestricted. y, restricted

[Option ID = 1300]

") The logic expression (P AQ IV (P A @ v (P A Q) 1= equivalent to

[Question ID = 326][Question Description = 111_87_Computer_Science_0CT22_Q11]
1 . -E_’ V Q

[Option ID = 1301]
2. p VQ_

[Option ID = 1302]
3. Pv@

[Option ID = 1303]
“ Pv@

[Option ID = 1304]

12) The reduced grammar equivalent to the grammar. whose production rules are given below, is
5—+ABI|CA
B—BC|AB
A—a
C—alblb

[Question ID = 327][Question Description = 112_87_Computer_Science_0CT22_Q12]
. 85CA A3 C—D

[Option ID = 1305]



2. 8 CAIB.B—BC|B.A—a C—aBlb

[Option ID = 1306]
3. 3—CAIB.BE—BC.A—a.C—aBlb

[Option ID = 1307]
4 8 2AB|AC.B—BC|BA. A—a C—aB|b

[Option ID = 1308]

13)  (Consider the production rules of grammer G:
53— AbB
A —aAblu
B—bB| %
Which of the following language L 1s generated by grammer G?7
[Question ID = 328][Question Description = 113_87_Computer_Science_0CT22_Q13]
LR ={:{"b’" i =0,m ':sn-}
[Option ID = 1309]

2. L ={a"b’” inz0,m 2{)}
[Option ID = 1310]

3. I= {a"z;'" = m:'

[Option ID = 1311]

4. [QL = J}_cr”bm SR Zmam :»-D}

[Option ID = 1312]

14) Consider the language L= ';a”b'“ inzdme .'3}

Which of the following regular expression represents language L7
[Question ID = 329][Question Description = 114_87_Computer_Science_0CT22_Q14]
1. agaa*(} +b+bb+ bbh)

[Option ID = 1313]
2. gazaa®b + bh + bhh)

[Option ID = 1314]
3. aazaa®™ s + b+ bbb+ bbb

[Option ID = 1315]
4. aaaa*(b + bb + bbh)

[Option ID = 1316]

15) Gongiden Ti= {ab. aa, baa)

Which of the following stitng 18 NOT in L*?
[Question ID = 330][Question Description = 115_87_Computer_Science_0CT22_Q15]
1. haaasabaaasa

[Option ID = 1317]
2. ghaabaaabaa

[Option ID = 1318]
3. aaaabaaaa



[Option ID = 1319]
4. baaaaabaa

[Option ID = 1320]

16)  Consider the following NPDA = {{qﬂ. G-y } ta.bl {1.:}. Oy gy 2: '{l‘qf H

olgg, b, 2 )= {{IQI' 'z ]}

E{.QGJQJ z)= {{QIJ 11 ‘ll]
dlgyia, 1)={g,,111)}
ﬂ{h:b' 1}= {[Q‘n:ﬂ)j
a’{Qij}-f = }= {{Qr 2 )}
Which of the following Language L is accepted by NPDA?
[Question ID = 331][Question Description = 116_87_Computer_Science_0CT22_Q16]
1. Tous {:x:"b” :n--_‘*O}
[Option ID = 1321]

2. & =fa”52" R ?_#UF
[Option ID = 1322]

3. g :{112“.5.” Tn >-ﬂ}
[Option ID = 1323]

4. [\f,z{a"bznzn}[)}

[Option ID = 1324]

17)  Hidden surface removal problem with minimal 3D pipeline can be solved with
[Question ID = 332][Question Description = 117_87_Computer_Science_0CT22_Q17]
1. Painter’s algorithm

[Option ID = 1325]
2. Windew Clipping algovithm

[Option ID = 1326]
3. Brute force rasterization algorithm

[Option ID = 1327]
4. Flaod fill algorithm

[Option ID = 1328]

18) Using ‘RSA’" algorithm. if p =13, g = 5 and e = 7. the value of d and cipher value of ‘6" with

(e, n) key are

[Question ID = 333][Question Description = 118_87_Computer_Science_0CT22_Q18]
1. 7.4

[Option ID = 1329]
2 . ?. 1

[Option ID = 1330]
3. 748

[Option ID = 1331]



4. 55,1

[Option ID = 1332]

19) The condition nmum! = 65 cannot be replaced by
[Question ID = 334][Question Description = 119_87_Computer_Science_0CT22_Q19]
1. num =65 | | num =< 63

[Option ID = 1333]
2. 1 (num == 65)

[Option ID = 1334]
3. num— Gb

[Option ID = 1335]
4. ! (num —65)

[Option ID = 1336]

20)  Puinters cannot be uzed to

[Question ID = 335][Question Description = 120_87_Computer_Science_0CT22_Q20]

1. find the address of a varahle in memory

[Option ID = 1337]
2. yeference value divectly

[Option ID = 1338]
3. simulate call by reference

[Option ID = 1339]
4. manipulate dynamic data structure

[Option ID = 1340]
21)  Which mechanism in XML allows organizations to specify globally unique names as element
tage in documents?

[Question ID = 336][Question Description = 121_87_Computer_Science_0CT22_Q21]

1. root

[Option ID = 1341]

2. header
[Option ID = 1342]

3. schema
[Option ID = 1343]

4. pamespace
[Option ID = 1344]
22) 1fan operating svstem does not allow a child process to exist when the parent process has
been terminated. this phenomenon is called as -

[Question ID = 337][Question Description = 122_87_Computer_Science_0CT22_Q22]
1. Threading

[Option ID = 1345]
2. Casecading termination

[Option ID = 1346]



3. Zombie termination

[Option ID = 1347]
4. Proceas killing

[Option ID = 1348]

23)  fWhat iz called Journalling in Linux operating system?

[Question ID = 338][Question Description = 123_87_Computer_Science_0CT22_Q23]
1. Process scheduling

[Option ID = 1349]

2. File saving as transaction

[Option ID = 1350]
3. Atvpe of thread

[Option ID = 1351]
4. An editor

[Option ID = 1352]

24 ] . ;
) This transformation 18 called

X a. b e d| |x

[Question ID = 339][Question Description = 124_87_Computer_Science_0CT22_Q24]
. Sealing

[Option ID = 1353]
2. Shear

[Option ID = 1354]

3. Homography

[Option ID = 1355]
4. Steganography

[Option ID = 1356]

25) RAD software process model stands for

[Question ID = 340][Question Description = 125_87_Computer_Science_0CT22_Q25]
1. Rapid Application Development

[Option ID = 1357]
2. Relative Applieation Development

[Option ID = 1358]
3. Rapid Application Design
[Option ID = 1359]
4. Recent Application Development

[Option ID = 1360]



26) 1¢ every requirement can be checked by a cost — effective proceszs, then SRS 1s called

[Question ID = 341][Question Description = 126_87_Computer_Science_0CT22_Q26]
1. Verifiable

[Option ID = 1361]
2. Tracable

[Option ID = 1362]
3. Modifiable

[Option ID = 1363]
4. Complete

[Option ID = 1364]

27) Fault base testing technique is

[Question ID = 342][Question Description = 127_87_Computer_Science_0CT22_Q27]
. Unit testing

[Option ID = 1365]
2. Beta testing

[Option ID = 1366]
3. Biress testing

[Option ID = 1367]
4. Mutation testing

[Option ID = 1368]

28) Alpha and Beta testing are forms of
[Question ID = 343][Question Description = 128_87_Computer_Science_0CT22_Q28]
1. ‘White — Box Testing

[Option ID = 1369]
2. Black — Box Testing

[Option ID = 1370]
3. Aceeptance Testing

[Option ID = 1371]
4. System Testing

[Option ID = 1372]

29) The process to gather the software requirements from client. analyze and document 1s known
as -
[Question ID = 344][Question Description = 129_87_Computer_Science_0CT22_Q29]
1. Software Engineering Process
[Option ID = 1373]
2. User Engineering Process

[Option ID = 1374]
3. Requirement Elicitation Proceas

[Option ID = 1375]
4. Requirement Engineering Process



[Option ID = 1376]

30)  gizeand complexity are a part of

[Question ID = 345][Question Description = 130_87_Computer_Science_0CT22_Q30]
1. People Metrics

[Option ID = 1377]
2. Project Metrics
[Option ID = 1378]

3. Process Metries

[Option ID = 1379]
4. Produet Metries

[Option ID = 1380]

31 . . . .. . ..
) Which Metres are derived by normalizing quality and/or productivity measures by
considering the size of the software that has been produced?

[Question ID = 346][Question Description = 131_87_Computer_Science_0CT22_Q31]
1. Funetion — Oriented Metrics

[Option ID = 1381]
2. Function — Point Metrics

[Option ID = 1382]
3. Line of Code Metrics

[Option ID = 1383]
4. Bize Orented Metrics

[Option ID = 1384]

32)  The model in which the requirements are implemented by 1ts category 13
[Question ID = 347][Question Description = 132_87_Computer_Science_0CT22_Q32]
1. Evolutionary Development Model

[Option ID = 1385]
2. Waterfall Model

[Option ID = 1386]
3. Prototyping Model

[Option ID = 1387]
4. Tterative Enhancement Model

[Option ID = 1388]

33)  Which of the following is an indirect measure of product?
[Question ID = 348][Question Description = 133_87_Computer_Science_0CT22_Q33]
1. Quality
[Option ID = 1389]
2. Complexity

[Option ID = 1390]
3. Reliahility



[Option ID = 1391]
4. ATl of theze

[Option ID = 1392]

34) Nodules X and Y operate on the same input and cutput. then the cohesion 1s
[Question ID = 349][Question Description = 134_87_Computer_Science_0CT22_Q34]
. Logieal cohegion

[Option ID = 1393]

2. Sequential cohesion

[Option ID = 1394]
3. Procedural cohesion

[Option ID = 1395]
4. Communicational cohesion

[Option ID = 1396]
35)  Which mode is a block cipher implementation as a self synchronizing stream cipher?
[Question ID = 350][Question Description = 135_87_Computer_Science_0CT22_Q35]

. Cipher Block Chaining Mode

[Option ID = 1397]
2. Cipher Feedback Maode

[Option ID = 1398]
3. Eleetromic Codehoolk Made

[Option ID = 1399]
4. Output Feedback Mode
[Option ID = 1400]
36) Which one is a connectionless transport — layer protocol that belongs to the Internet protocol
family?
[Question ID = 351][Question Description = 136_87_Computer_Science_0CT22_Q36]
. Transmission Control Protocol (TCP)

[Option ID = 1401]
2. User Datagram Protocol (UDP)

[Option ID = 1402]
3. Routing Protocol (RP)

[Option ID = 1403]
4. Datagram Contrel Protocel (DCP)

[Option ID = 1404]
37) Consider an error free 64 kbps satellite channel used to send 512 byte data firames in one

direction with very short acknowledgements coming back the other way., What is the
maximum throughput for window size of 157

[Question ID = 352][Question Description = 137_87_Computer_Science_0CT22_Q37]
1. 32 kbps

[Option ID = 1405]



2. 48 kbps
[Option ID = 1406]
3. 64 kbps
[Option ID = 1407]
4. 70 khps

[Option ID = 1408]

38) A classless address is given as 167.199.170.82/27. The number of addresses in the network is

[Question ID = 353][Question Description = 138_87_Computer_Science_0CT22_Q38]
1. G4 addresses
[Option ID = 1409]
2. 39 addresses
[Option ID = 1410]
3. 28 addres=ze=
[Option ID = 1411]
4. 30 addresses

[Option ID = 1412]

39)  \Which layer divides each message mmto packets at the source and re-assembles them at the
destination?

[Question ID = 354][Question Description = 139_87_Computer_Science_0CT22_Q39]
1. Network layer

[Option ID = 1413]
2. Tyansportlayer
[Option ID = 1414]
3. Data hink laver
[Option ID = 1415]

4. Physical layer

[Option ID = 1416]

40) 5 4-stage pipeline has the stage delay as 150,120.160 and 140 ns respectively. Registers
that are used between the stages have delay of 5 ns. Assuming constant locking rate. the
total time required to process 1000 data 1items on this pipeline 1s

[Question ID = 355][Question Description = 140_87_Computer_Science_0CT22_Q40]

1 160.5 ms

[Option ID = 1417]

2. 165.5 ms

[Option ID = 1418]

3. 120.5 ms
[Option ID = 1419]

4. 590.5 ms
[Option ID = 1420]

1) Which of the following 1= correct for the destination address 44 : 30:10: 21 : 10 : 1A7



1.

[Question ID = 356][Question Description = 141_87_Computer_Science_0CT22_Q41]

unicast address

[Option ID = 1421]

2. multicast address

[Option ID = 1422]

3. broadecast address

[Option ID = 1423]

4. uniecastand broadeast address

[Option ID = 1424]

42) Assume that fin) and g {n) are asymptotically positive. Which of the following is correct?

[Question ID = 357][Question Description = 142_87_Computer_Science_0CT22_Q42]

. flnl=0(gln)) and glnl=0lkn))= f{n}=m{h{n))

[Option ID = 1425]

2. fin)=0Qlz(n)) and gln)=Qh(n))= f(n)=0lhin))

[Option ID = 1426]

3. fln)=elgln)) and gln)=olliln))= fln)=o(hln))

[Option ID = 1427]

4 fln)=olgin)) and gln)=alhin)l=F(n)=0lhln))

[Option ID = 1428]

43)
The solution of the recurrence relation Tln)=3T (%)— nlgmn 1=

[Question ID = 358][Question Description = 143_87_Computer_Science_0CT22_Q43]
1. ﬂ{nz i’g-n)

[Option ID = 1429]

2. Blnlgn)

[Option ID = 1430]
3. Alnlgn ]3

[Option ID = 1431]

4. Blnlglzn)

[Option ID = 1432]

44)  Fhpnumber of nodes of height h in any n-elentent heap 1z atmost:

[Question ID = 359][Question Description = 144_87_Computer_Science_0CT22_Q44]

1. ”‘2!:+1

[Option ID = 1433]

M
2. o
[Option ID = 1434]
mn
3.

"



[Option ID = 1435]
n—1

2?1—1

[Option ID = 1436]

4.

45 ; i i, :
) Consider a B-tree of height h, minimum degree f = 2 that contain: anv n-key. where n =1,

Which of the following is correct?

[Question ID = 360][Question Description = 145_87_Computer_Science_0CT22_Q45]

n+1
2

1. hzlog

[Option ID = 1437]
n+l

2. h<log,

2

[Option ID = 1438]
n-—1

3. hzlog =

[Option ID = 1439]

4. h Elog,n_—;l

[Option ID = 1440]

46) . . . . . . . .
Which of the following algorithm design approach is used in Quick sort algorithm?
[Question ID = 361][Question Description = 146_87_Computer_Science_0CT22_Q46]

1. Dynamic programming

[Option ID = 1441]

2. Back Tracking

[Option ID = 1442]

3. Divide and conguer

[Option ID = 1443]
4. Greedy approach

[Option ID = 1444]

47) Consider the hash table of size 11 that uses open addressing with linear probing.
Let hlk )=k mod 11 be the hash function. A sequence of records with keys 43, 36, 92, 87, 11,
47 11, 13, 14 i= in=erted into an 1nitially empty hash table. the bins of which are indexed
from 0 to 10, What is the index of the bin into which the last record 12 inserted?

[Question ID = 362][Question Description = 147_87_Computer_Science_0CT22_Q47]

1. g

[Option ID = 1445]

2. 7

[Option ID = 1446]

3. 10
[Option ID = 1447]
4. 4

[Option ID = 1448]



48) Consider the traversal of a tree

Preorder — ABCEIFJDGHEL
Inorder — EICFIJBGDEHLA
Which of the following is correct post order traversal?

[Question ID = 363][Question Description = 148_87_Computer_Science_0CT22_Q48]
1. EIFJCEGLHDBA

[Option ID = 1449]
2. FCGELHDBUAE

[Option ID = 1450]
3. FCGELHDBAEILJ

[Option ID = 1451]
4. IEJFCGKLHDBA

[Option ID = 1452]
49) How many rotations are required during the construction of an AVL tree if the following
elements are to be added in the given seguence?
3b, 50, 40, 25, 30, 60, 78, 20, 28
[Question ID = 364][Question Description = 149_87_Computer_Science_0CT22_Q49]
1. 2 left rotations. 2 right rotations
[Option ID = 1453]
2 9 left votations, 3 right rotations
[Option ID = 1454]

3. 3 left votations. 2 right rotations

[Option ID = 1455]
4. 3 left rotations, 1 right rotation

[Option ID = 1456]

20) Consider the following two lists
ListI List I
(A)  Stack overflow (I Software interrupt
(B) Timer (II) Internal interrupt
(€C) Invalid opeode (III) External interrupt
(D) Superior eall (IV) Machine check interrupt

Whach of the following is correct match 7

[Question ID = 365][Question Description = 150_87_Computer_Science_0CT22_Q50]
- (A)-T). (B)-(ID), (C)-(III), (D)-(IV)
[Option ID = 1457]
2. {A)-(ID, (B)-(IID). (C)-(D. (D)«(IV)
[Option ID = 1458]
3. (AD. (Bi-ID), (C)-(IV). (D)-(I1I}

[Option ID = 1459]
4. (A)-(ID), (B)-(IID), (C)-(IV). (D)-(I)



5

[Option ID = 1460]

1 : .
) Let B (ABCDEFGH) be a relation schema and F be the set of deépendencies

F ={A > B,ABCD - E, EF -G, EF — H and ACDF — EG}. The minimal cover of a set

of functional dependencies is

[Question ID = 366][Question Description = 151_87_Computer_Science_0CT22_Q51]

1.

2.

3.

4.

A—B,ACD »>E.EF »G,and EF > H

[Option ID = 1461]
A—+BACD - E EF -G, EF - Hand ACDF -G

[Option ID = 1462]
A—B,ACD - FE EF -G, EF - Hand ACDF - F

[Option ID = 1463]
N4 — B.ABCD > E.EF — H and EF G

[Option ID = 1464]

52) s trigger is

[Question ID = 367][Question Description = 152_87_Computer_Science_0CT22_Q52]

1.

A statement that enables to start DBMNS,

[Option ID = 1465]
A statement that 15 executed by the user when debugging an apphication program.

[Option ID = 1466]

- A condition the syatem tests for the vahdity of the databasze user,

[Option ID = 1467]
A statement that is executed automatically by the system as a side effect of
modification to the database,

[Option ID = 1468]

53)  For the following page reference string 4, 3. 2, 1. 4, 3, 5. 4, 3, 2. 1. 5. the number of page

faults that cceur in Least Recently Used (LRU) page replacement algerithm with frame size
s

[Question ID = 368][Question Description = 153_87_Computer_Science_0CT22_Q53]

1.

2.

3.

4.

[
[Option ID = 1469]
8
[Option ID = 1470]
10

[Option ID = 1471]
12

[Option ID = 1472]

54) A magnetic tape drive has transport speed of 200 inches per second and a recording density

1.

of 1600 bytes per inch. The time required to write 600000 bytes of data grouped in 100
characters record with a blocking factor 10 1s

[Question ID = 369][Question Description = 154_87_Computer_Science_0CT22_Q54]

2.0625 sec



[Option ID = 1473]
2. 26251 sec

[Option ID = 1474]
3. 2.0062 sec

[Option ID = 1475]
4. 9 G150 sec

[Option ID = 1476]

55 - 3 .
) Consider two lists A and B of three strings on 10. 1}
List A | List B
1 111
X
10111 10
10 0
List A | List B
- 10 101
' 011 11
101 011

Which of the following 1s true?

[Question ID = 370][Question Description = 155_87_Computer_Science_0CT22_Q55]
1. Only PCP in X has solution.

[Option ID = 1477]
2. Only PCP in Y has solution.

[Option ID = 1478]
3. PCPin bath X and Y has solution.

[Option ID = 1479]
4. PCP neither in X nor in Y has solution.

[Option ID = 1480]

56)  Consider the properties of recursively enumerable sets :
(A) Finiteness
(B) Context Freedom
() Emptiness
Which of the following 1s true?
[Question ID = 371][Question Description = 156_87_Computer_Science_0CT22_Q56]
1. Only (A) and (B) are not decidable
[Option ID = 1481]
2. Only (B) and (C) are not decidable
[Option ID = 1482]
3. Only (C) and (A) are not decidable

[Option ID = 1483]
4. All(A), (B) and (C) are not decidable

[Option ID = 1484]



>7) Conaider the following :

Tast I Tast IT
{A) Activation record (I Linking Loader
(B) Loeation counter (I Garbage Collection
(C) Reference count (III) Subroutine Call
(D) Address relocation (IV) Assembler

Which of the following is correct matching ?
[Question ID = 372][Question Description = 157_87_Computer_Science_0CT22_Q57]
1. (A)-ID), (B)-(IV). (C)-(T). (D)-(IT)

[Option ID = 1485]
2. (A)«IV). (B-(ITL), (C)-(I), (D)-(II)

[Option ID = 1486]
3. (A)-OIV). (B)-(IIL). (C)-(ID). (D)-(I)

[Option ID = 1487]
4. (A)-(IL). (B)-(IID), (C)-(I), (D)-(IV)

[Option ID = 1488]

>8) Consider the following related to Fourth Generation Technique (4GT) :

tA) Tt controls efforts.
(By It controls resources.
(C) Tt controls cost of development.

Choaose the correct answer from the options given below :

[Question ID = 373][Question Description = 158_87_Computer_Science_0CT22_Q58]
. (A) and (B) only

[Option ID = 1489]
2. (B and (C) only

[Option ID = 1490]
3. (Cyand (A) only

[Option ID = 1491]
4. All (A), (B) and (C)

[Option ID = 1492]

59
) Consider the grammer 8 — Sh&|a.

Consider the following statements:
The ztiing abababa has

{A) two parse trees

(B) twoleft mozt demvations

(C) two right most derivations

Which of the following 1z correct?

[Question ID = 374][Question Description = 159_87_Computer_Science_0CT22_Q59]
- All (A). (B) and (C) are true



[Option ID = 1493]
2. Qnly (B)is true

[Option ID = 1494]
3. Only (C) 1z true

[Option ID = 1495]
4. Only (A) 1s true

[Option ID = 1496]

60 ; ; . .
) In a game playing search tree. upto which depth o — pruning can be applhied?

(A)  Root (0) level

(B) 6level

(C) 8level

(D) Depends on utility value in a breadth fivat order

Choose the correct answer from the options given below :
[Question ID = 375][Question Description = 160_87_Computer_Science_0CT22_Q60]
1. (B) and (C) only

[Option ID = 1497]
2. (A) and (B) only

[Option ID = 1498]

3. (A), (B) and (C) only

[Option ID = 1499]
4. (4) and (D) only

[Option ID = 1500]

1) Consider o,B.7 as logical variables. Identify which of the following represents correct logical
equivalence :

A leaBvy))=(lonB)vicay)

(B) (avpl=—avp

(C) lo=Rl=l-p=—u)

D) (Hewvp)l=(—ae=—p)

Choose the correct answer from the options given helow :
[Question ID = 376][Question Description = 161_87_Computer_Science_0CT22_Q61]
1. {A) and (D) only

[Option ID = 1501]
2. (B)and (C) only

[Option ID = 1502]
3. {A)yand(C)only

[Option ID = 1503]
4. (B) and (D) only

[Option ID = 1504]



62) et [{af.b } %) he a semigroup. where a*a =b.

(Ay a=b=b=*q
L
By b=b=0b

Choose the most appropriate answer from the options given helow ;
[Question ID = 377][Question Description = 162_87_Computer_Science_0CT22_Q62]
1. {A) only true

[Option ID = 1505]
2. (B) onlytrue

[Option ID = 1506]
3. Both (A) and (B) true

[Option ID = 1507]
4. Neither (A) nor (B) true

[Option ID = 1508]

63
) Consider the following graph :

s
(16“(&{’/5
o

For the graph: the following sequences of depth fivst search (DFS) are given

(A)  abczhf
(B) abfchg
(C) abfhee
(D) afghbe

Which of the following iz correct?

[Question ID = 378][Question Description = 163_87_Computer_Science_0CT22_Q63]
1. (A), (B) and (D) only

[Option ID = 1509]
2. /A), (B). (C) and (D)

[Option ID = 1510]
3. {B). (€) and (D) only

[Option ID = 1511]
4. (A), (C) and (D) only

[Option ID = 1512]



64) Let ==0.0005. and Let Re he the velation '4[[‘1' N JeR: |.>: —_}'|<lE}, Re could be interpreted as
the relation approximately equal. Re 1s

(A) Reflexive

(B) Symmetric

(C) transitive

Choosze the correct answer from the options given helow :

[Question ID = 379][Question Description = 164_87_Computer_Science_0CT22_Qé64]
1. (A) and (B) only true

[Option ID = 1513]
2. (Bjyand (C) only true

[Option ID = 1514]
3. {A) and (C) only true

[Option ID = 1515]
4. {A). (B) and (C) true

[Option ID = 1516]

65)  In veference to Big data. consider the following database

{A) DMemecached

(B) Couch DB

(C) Infinite graph

Choose the most appropriate answer from the eptions given helow :

[Question ID = 380][Question Description = 165_87_Computer_Science_0CT22_Q65]
1. {A) and (B) only

[Option ID = 1517]
2. (B) and (C) only

[Option ID = 1518]
3. {C)and (A) only

[Option ID = 1519]
4. (A), (B) and ()

[Option ID = 1520]

66)  Match List T with List I :
List I ListII
(A) BCNF (I) It removes multivalued dependency
By 3NF (IT} It is not alwayvs dependency preserving
(C) 2NF (IIT) It removes transitive dependency
(D) 4NF (IV) It removes partial functional dependency

Choose the correct answer from the options given below:

[Question ID = 381][Question Description = 166_87_Computer_Science_0CT22_Q66]
T {A)(IID), (B)-T), (C)-(IV). (D)-(D)

[Option ID = 1521]



2.

3.

4.

67)

(A)-(ID), (B)-(IV), (C)y-(I), (Dy-(I1I)

[Option ID = 1522]
(A)-(IT), (B)-(110). (C)-(IV). (D)-(T)

[Option ID = 1523]
(A)(I1), (B)-{I). (C)-(IV), (D)-(I1I)

[Option ID = 1524]

(A)
(B)

(C)

(D)

Localization

Mateh List I with List IT :

ListT

(T

Packaging or binding of a collection of (II)

1tems

Mechanism that enables designer to
focus on essential details of a program

component.

Information hiding

(I1T)

(IV)

Tast I

Encapsulation

Abstraction

Characteristic of software  that
indicates the manner In which
information iz concentrated In
Program

Suppressing the operational details of
a program component

Choose the correct answer from the options given below :

[Question ID = 382][Question Description = 167_87_Computer_Science_0CT22_Q67]
(A)-(I). (B)-(I). (C)-(IID), ID)-IV)

[Option ID = 1525]
(AL, (B)-(I), (C)-III), (D}-(IV)

1.

2.

3.

4.

68)

[Option ID = 1526]
(A)-(III), (B)-(I), (C)-(II). (D)-(IV)

[Option ID = 1527]
(A)-(IIT), (B)-(I), (C)=(IV), (D)-1I1)

[Option ID = 1528]

(A)
(B)
(C)
(D)

List I
Tyvpe 0
Type 1
Tyvpe 2
Type 3

Match List I with List II :

(I)
(I

List II
Finite automata

Tumng machine

(IIT} Linear bound automata

(IV)

Pushdown automata

Choose the correct answer from the options given helow :

[Question ID = 383][Question Description = 168_87_Computer_Science_0CT22_Q68]
(A)-(ITT), (B)-(IV), (C)-(I0). (D)~

1.

2.

3.

4.

[Option ID = 1529]
(A)-(IT), (B)-(IIL). (C)-(IV). (D)-(D)

[Option ID = 1530]
(A)=(I11), (B)-(IV), (C)-(I), (D)-(1T)

[Option ID = 1531]
(A)-(IL), (B)-(I11T), (C)-(II), (D-(IV)

[Option ID = 1532]



69)

Tist I

{A) Ontological Engineering

Mateh List I with List IT :

(B) Taxonomy Hierarchy

(Cy) Inheritance

(D) Probahbility mode

(88
(ID)

(I1D)
(IV)

List IT

Organizing subclass relations

Organizing knowledge into category and
sub category

Attaches a number with each possibility

Representing concepts. events. time.
physical concepts of different domains

Choose the correct answer from the options ziven helow :

[Question ID = 384][Question Description = 169_87_Computer_Science_0CT22_Q69]
T (A)D). (B)(I). (C)-(IV), (D)-(I1I)

[Option ID = 1533]

2. (A (I, (B)-(II), (CH(I1D), (D)-(IV)

[Option ID = 1534]

3. (A)-(IV). (B)-(I1D), (C)-(D), (D)-(1D)

[Option ID = 1535]

4 (A)-(IV). (B)-(D, (C)-(ID). (D)-(TII)

[Option ID = 1536]

70)

Last I

Match List Twith List IT:

(A) Least frequently used
{B) Critical Section

(C) Loosely coupled multiprocessor

svetem

(D) Dastributed
organization

operating

svetem

(I
(IT)
(IIT)

(IV)

Last IT

Memory 1e distributed among processors
Page replacement policy in cache memory

Program section that once begin must
complete execution before another processor
access the zame shared rezource

/S routines are diztmbuted among
available processors.

Choose the correct answer from the options given below :

[Question ID = 385][Question Description = 170_87_Computer_Science_0CT22_Q70]
T (AT, (B)-(ID), (C)-(IV). (D)-(D)

[Option ID = 1537]

2. (4D, (B)-(ID), (C)-(IID), (D)-(IV)

[Option ID = 1538]

3. (A)-(ID). (B)-(I1I), (C)(T). (D)-(IV)

[Option ID = 1539]

4. (A)(ID, (B)-(D, (C)-(11I). (D)-(IV)

[Option ID = 1540]



71) Mateh List T with List IT :

(A)
(B)
(€)
(D)

List I

Firmiware (T)
Batch file (IT)
Packing (I1T)

Bankei's Algorithm (TV)

TastIT

Number of logical records into physical blocks
ASCII format
Rezource allocation

ROM

Choose the correct answer from the options eiven below :

[Question ID = 386][Question Description = 171_87_Computer_Science_0CT22_Q71]
(A)(ID), (B)-(I). (C)-(IV), (D)-(IIT}

1.

2.

3.

4.

[Option ID = 1541]
(A)-(ID). (B)-(D). (C)-(1IL). (DH-(IV)

[Option ID = 1542]
(A)-(IV), (B)-(IL), (Cy-(I), (D)-(I1I)

[Option ID = 1543]
(A)-(IV). (B)-(D), (C)-(ID), (D)-(II)

[Option ID = 1544]

72) Nfutoh Tist Twith Tast IT :

(A)
(B)
(C)
(D)

List I List IT
DES Iy Kevsize -
AES (II) EKey size -
3 DES (ITI) Key size -
RSA (IV) Key size -

256
1024
b6
168

Choose the correct answer from the options saven below :

[Question ID = 387][Question Description = 172_87_Computer_Science_0CT22_Q72]
(A)(T), (B)-(I0). (Cy-(IV). (D)-(III)

1.

2.

3.

4.

[Option ID = 1545]
{A)-(IID). (B)-(I). (C)-(IV). (D)-(1T)

[Option ID = 1546]
(A)-(IIT), (B)-(IV), (C)-(I1). (D)-(I)

[Option ID = 1547]
(A-(IV). (B)-(I1). (C)«(I1T). (D)(T)

[Option ID = 1548]



73)  Match Liet T with List I :

List1

(&) BIND (1)
{B) LISTEN (II)
(C) ACCEPT (I1T)
(D) SOCKET (IV)

List II

Block the caller until a connection attempt arrives
Give a local address to a socket
Show willingness to accept connections

Create a new point

Choose the correct answer from the options given below :

[Question ID = 388][Question Description = 173_87_Computer_Science_0CT22_Q73]
T (A)-(D. (B)-(IILY, (C)-(I1), (D)-(IV)

[Option ID = 1549]

2. (A)-(ID). (B)-(IIL). (C)-(D). (D)-(IV)

[Option ID = 1550]

3. (A, (B)-(ID). (C)-@). (D)-

[Option ID = 1551]

(Iv)

4 (A)D. (B)-(ID). (C)~III), (D)-(IV)

[Option ID = 1552]
Match List T with List IT :
TistI
{A) Physical layer
(B) Data link laver
(Cy Network layer

(D) Presentation laver

List II

(I  Routing of the signals divide the outgoing message into
packets. to dact as network controller for routing data

(IT} Make and break connections. define voltages and data
rates, convert data bite into electrical signal

(III) Swynchronization, error detection and correction. To
assemble outgolng message 1nto frames.

(IV) It works as a translating laver

Choose the correct answer from the options given below ;

[Question ID = 389][Question Description = 174_87_Computer_Science_0CT22_Q74]
T (A)-IV). (B)-(TID). (C)-(IT). (D)-(T)

[Option ID = 1553]

2. (A)-(ID), (B)-(IID). (C)-(IV). (D)-(D

[Option ID = 1554]

3. (A)IV), (B)-(IID), (C)-(I), (D)-

[Option ID = 1555]

(1I)

4. (A)-(ID), (B)-(IID), (C)-(I), (D}-(IV)

[Option ID = 1556]



73)  Consider the following algorithms and their running times :

Algorithms Complexities
(A) Breadrth First Search (M Blv—F)
{(B) Rabin-Karp Algorithm (Il Olv+E)
(C) Depth-First Search (ITT) 8ln—m—1}m)
(D) Heap =ort (worst case) (TV) O{'nl]
(E) Quick sort (worst case) (Vi O(nlgn)

Which one of the following is correct 7

[Question ID = 390][Question Description = 175_87_Computer_Science_0CT22_Q75]
1 (AYID, BT, (C-(D. (DI-IV). (E)-(V)

[Option ID = 1557]
2. (AT, (By~(TIT), (C)=(T), (D)-(IV), (E)-(V)

[Option ID = 1558]
30 (A)-(ID). (BY-(IID). (C)-(D. (Dy-(V). (E)-(IV)

[Option ID = 1559]
4 (AT, (B)-(D). (C)-(ID). (D)-(IVy. (E)-(V)

[Option ID = 1560]

76)  Consider the following:

List I List IT
(A) Stack algorithm (It Deadlock
(B) Elevator algorithm (IT) Dizk scheduling
(C)  Priority scheduling algorithm  (III) Page replacement
(D) Havender's algorithm (IV) CPU scheduling

Which of the following is correct matching?

[Question ID = 391][Question Description = 176_87_Computer_Science_0CT22_Q76]
1 (A, (B)(II), (C)-(IV). D)D)

[Option ID = 1561]
2. (AT, (B)-(III), (C)-(IV). (D)-(T)

[Option ID = 1562]
3. (A)-IID. (B)-(IL). (C)-(I), (D)-(IV)

[Option ID = 1563]
4. (A)(IT), (B)-(IID). (C1-(D. (D)-(IV)

[Option ID = 1564]



77 i ) i : }
) Conzider the following statemernits of approximation algorithm !

Statement I : Vertex-cover 1 a polynomal ime 2-approxamation algorithm.

Statement IT ; TSP-tour 13 a polynomial time S-approximation algorithm for travelling

salesman problem with the trianegle inequality.

Which of the following 1 correct?

[Question ID = 392][Question Description = 177_87_Computer_Science_0CT22_Q77]

1. Statement I true and Statement IT falze

[Option ID = 1565]
2. Etatement I and Statement II true

[Option ID = 1566]
3. Btatement I false and Statement IT true

[Option ID = 1567]
4. Statement I and Statement II false

[Option ID = 1568]

78) Consider the following statements:

Statement I : Conservative  PL is a deadlock-free protocol.

Statement 11 : Thomas's write rule enforces conflict serializability.

Statement III: Timestamp ordering protocol ensures serializahility based on the order of

transaction timestamps,

Which of the following is correct?
[Question ID = 393][Question Description = 178_87_Computer_Science_0CT22_Q78]

1. Statement I. Statement II true and Statement 11T false

[Option ID = 1569]
2. gtatement I, Statement ITT true and Statement 1T falze

[Option ID = 1570]
3. 8tatement I, Statement I falzse and Statement II1 true

[Option ID = 1571]
4. Btatement I Statement IT and Statement III true

[Option ID = 1572]



79)

Statement I :

Statement II :

Statement 11 :

Consider the following statements:

Composite attributes cannot be divided into smaller subparts.

Complex attribute is formed by nesting composite attributes and multi-

valued attributes in an arbitrary way.

A derved attribute 18 an attribute whose values are computed from other

attribute.

Which of the following is correct?

[Question ID = 394][Question Description = 179_87_Computer_Science_0CT22_Q79]

1.

2.

3.

4.

80)

Statement I. Statement II and Statement III are true

[Option ID = 1573]

Statement I true and Statement II. Statement 111 false

[Option ID = 1574]

Statement I, Statement IT true and Statement I1T false

[Option ID = 1575]

Statement I false and Statement II, Statement IIT true

[Option ID = 1576]

Statement I :

Statement I1 ;

Statement IIT :

Statement IV :

A top down approach to programming calls for ;

Working from the general to the specifie.

Postpone the minor decisions,

A systematic approach.

Intermediate coding of the problem

Which of the following 1s true?

[Question ID = 395][Question Description = 180_87_Computer_Science_0CT22_Q80]

1.

2.

3.

4.

Statement I only

[Option ID = 1577]

Stratement I and Statement IT only

[Option ID = 1578]

Statement I, Statement II and Statement III only

[Option ID = 1579]

Statement I, Statement II and Statement IV only

[Option ID = 1580]



81 i -
) Conzider the following statements:

Statement I : LALR parser 1s more powerful than canonical LR Parzer.

Statement 1T : SLR parzer is more powerful than LALR

Which of the following 1s correct?
[Question ID = 396][Question Description = 181_87_Computer_Science_0CT22_Q81]
1. Btatement I true and Statement II falze

[Option ID = 1581]
2. Statement I false and Statement II true

[Option ID = 1582]
3. Both Statement I and Statement 11 false

[Option ID = 1583]

4. Both Statement I and Statement II true

[Option ID = 1584]

82) W . ; ‘ .
Con=ider the following statements about Context Free Language (CFL) :
Statement I : CFL 1s closed under homomorphisni.

Statement IT: CFL is closed under complement.

Which of the following 1s correct?

[Question ID = 397][Question Description = 182_87_Computer_Science_0CT22_Q82]
1. Statentent I1s true and Statement IT 1s falze

[Option ID = 1585]
2. &tatement IT is true and Statement I i¢ falze

[Option ID = 1586]

3. Both Statement I and Statement II are true

[Option ID = 1587]
4. Neither Statement I nor Statement 11 1s true

[Option ID = 1588]

83 ; ¥ e
) Conzider the following 1n Boolean Algebra

X:avibalave)l=lavbinlave)
Y:anlbvlanc))=lanb)vianc)
av (bre)=(avb) e is satisfied if

[Question ID = 398][Question Description = 183_87_Computer_Science_0CT22_Q83]

1. Xistrue

[Option ID = 1589]
2. ¥ 1= true



[Option ID = 1590]
3. Both X and Y are true

[Option ID = 1591]
4. Tt does not depend on X and Y

[Option ID = 1592]

84) A 200d software requirement specification does NOT have the characteristie

[Question ID = 399][Question Description = 184_87_Computer_Science_0CT22_Q84]
. Completeness

[Option ID = 1593]

2. (Consistency

[Option ID = 1594]
3. Clarity

[Option ID = 1595]
4. Reliabilitv

[Option ID = 1596]

85)  Given below are two statements : one 1s Iabelled as Assertion {A) and the other 1= labhelled as
Reazon (R) :

Assertion (A) ; 7
Reasan (R) (r =q.,r va, 8 —>q,p—q)

In the light of the above statements, chooze the correct answer from the options given below :

[Question ID = 400][Question Description = 185_87_Computer_Science_0CT22_Q85]
- Both (A) and (R) are true and (R) is the correct explanation of (A)

[Option ID = 1597]
2. Both (A) and (R) ave true but (R) is NOT the correct explanation of (A)

[Option ID = 1598]
3. (A)is true but (R) 1s falze

[Option ID = 1599]
4. (A) 1s falze but (R) 1= trae

[Option ID = 1600]

86) Of the following; which iz NOT a logical error?

[Question ID = 401][Question Description = 186_87_Computer_Science_0CT22_Q86]
. Using the =" instead of ' == to determine if two values are equal

[Option ID = 1601]
2. Divide by zero

[Option ID = 1602]
3. Failing to initialize counter and total variables before the body of loop

[Option ID = 1603]
4. T=ing conunas instead of two required semicolon in a for loop header

[Option ID = 1604]



87)

Given below are two statements : one is labelled as Assertion (A} and the other i= labelled as
Reason (R):

Assertion (A): A load-and-go assembler avoids the overhead of wrtting the obhject program
out and reading 1t back in.

Reazon (R) : Thiz can be done with either one-pass or two pass assembler.

In the light of the above statements, chooze the correct answer from the options given below

[Question ID = 402][Question Description = 187_87_Computer_Science_0CT22_Q87]
1. Both (A) and (R) are true and (R) is the correct explanation of (A)

[Option ID = 1605]
2. Both (A) dand (R) ave true but (R) is NOT the correct explanation of (A)

[Option ID = 1606]
3. (A)is true but (R) is falze

[Option ID = 1607]
4. (A)is false but (B) 1s true

[Option ID = 1608]

88)

[Qu
1.

Which statement 1s falze?

estion ID = 403][Question Description = 188_87_Computer_Science_0CT22_Q88]
All funetion ealls in € pass arguments using call by value.

[Option ID = 1609]
2. Call by reference enables a called funetion to modify a variable in ealling function.

[Option ID = 1610]
3. Call by value 1= always more efficient than eall by reference.

[Option ID = 1611]

4.

Programmers use pointers and indivection operation to simulate call hy reference.

[Option ID = 1612]

89)

Given helow are two statements :
Statement I: “Grandparent 1s a parent of one's parent’.
Statement IT : First Order Predicate Logic (FOPL) representation of above statement is

7 g, ¢ grandparent (g, ¢) = 3p parent (g. p) A parent (p.c)

In the hight of the above statements. choose the most appropriate answer from the options
civen below :

[Question ID = 404][Question Description = 189_87_Computer_Science_0CT22_Q89]

1.

Both Statement I and Statement IT are correct

[Option ID = 1613]
2. Both Statement I and Statement IT are incorrect

[
3.

[
4.

[

Option ID = 1614]
Statement I 1s correct but Statement I 1s meorrect

Option ID = 1615]
Statement I 1s incorrect but Statement IT 1s correct

Option ID = 1616]



90) Given below are two statements :

Statement I : Consider 20 bit ‘Branch’ microinstruction code format given below:

3 3 a4 2 2 7

F1|F2 | F53|CD | BR | AD

Fl. F2. F3 : Micro-operation flelds
CD : Condition for branching

ER : Branch field

AD : Address field

Statement 1T ¢ Instruction represented 1n above format can perform branch
4 conditions.

In the light of the ahove statements. choose the most appropriate answer from the options
glven below :

[Question ID = 405][Question Description = 190_87_Computer_Science_0CT22_Q90]

- Both Statement I and Statement II are correct

[Option ID = 1617]
2. Both Statement I and Statement II are 1ncorrect

[Option ID = 1618]
3. Statement T ig correct but Statement IT iz incorrect

[Option ID = 1619]
4.  Statement [ 1s incomect but Statement I is correct

[Option ID = 1620]

Topic:- 87_PART_B_Set1



1)

Read the following and Answer the guestions:

Conzider the relational schema of zailors 5. Reserves R and Boats B.

Table 1 : Sailors S Table 2 : Reserves R
Sid | Sname | Ratting | Age Sid | Bid | day
22 | Dustin T 45.0 22 | 101 | 10/10/98
29 | Brutus 1 33.0 22 1102 | 10/10/88
a1 | Lubber 2 55,5 22 [ 103 | 10/8/98
32 | -Andy 3 25.5 29 | 104 | 10/7/98
58 | Rusty 10 35,0 31 | 102 | 11/10/98
G4 | Horatio 7 35.0 31 | 103 | 11/6/98
74 | Horatio 35.0 G4 | 101 | 9/5/98
85 Art 25.5 64 | 102 | 9/8/98
25 Boh G3.5 74 | 103 | 8/8/98

Table 3 : Boats B

Bid | Bname Color
101 | Interlake | blue
102 | Imterlake | red
‘105 | Clipper | sreen
104 | Mavine red

Which of the following relational algebra query computes the Sid's of sailors with age over 20
who have not reserved a red boat?

[Question ID = 406][Question Description = 191_87_Computer_Science_0CT22_Q91]
T e (8 aze 20 Satlors) — Taid ({8 color = rea’ Boatg) »= Rezerves r=1 Sailors)

[Option ID = 1621]
2. a0 color= red A age =20 (Boats D1 Sailors < Reserves)))

[Option ID = 1622]
3. wsa (Bage=20 Sailors) — mweig ({ §ecior=17ed Boats) b1 Reserves < Sailors)

[Option ID = 1623]
4. 7 gd (5 age =20 Satlors) A mad (3 color=ved Boats) =1 Reserves t<iSailors)

[Option ID = 1624]



2)

Read the following and Answer the guestions:

Conzider the relational schema of zailors 5. Reserves R and Boats B.

Table 1 : Sailors S Table 2 : Reserves R
Sid | Sname | Ratting | Age Sid | Bid | day
22 | Dustin T 45.0 22 | 101 | 10/10/98
29 | Brutus 1 33.0 22 1102 | 10/10/88
a1 | Lubber 2 55,5 22 [ 103 | 10/8/98
32 | -Andy 3 25.5 29 | 104 | 10/7/98
58 | Rusty 10 35,0 31 | 102 | 11/10/98
G4 | Horatio 7 35.0 31 | 103 | 11/6/98
T Zorba 10 16.0 31 104 |1 11/12/98
74 | Horatio 35.0 G4 | 101 | 9/5/98
85 Art 25.5 64 | 102 | 9/8/98
25 Boh G3.5 74 | 103 | 8/8/98

Table 3 : Boats B

Bid | Bname Color
101 | Interlake | blue
102 | Imterlake | red
‘105 | Clipper | sreen
104 | Mavine red

Which of the following relational algebra query/queries computes/compute the names of gailors who
have reserved a red hoat?

Q1 7 oame (5ol = red Boats) =1 Reserves t~=1S8ailors)
Q2 Wemams (T (( Teid O colr = tea Boats) 1 Reserves ) < Sailors)

Q3 T emame (( D cotor = ved Reserves) Boats t~8ailors)

[Question ID = 407][Question Description = 192_87_Computer_Science_0CT22_Q92]
1. Beth @1 and @2

[Option ID = 1625]
2. Both @2 and Q3

[Option ID = 1626]
3. Only @1

[Option ID = 1627]
4. Only Q2

[Option ID = 1628]



3)

Read the following and Answer the guestions:

Conzider the relational schema of zailors 5. Reserves R and Boats B.

Table 1 : Sailors S Table 2 : Reserves R
Sid | Sname | Ratting | Age Sid | Bid | day
22 | Dustin T 45.0 22 | 101 | 10/10/98
29 | Brutus 1 33.0 22 1102 | 10/10/88
a1 | Lubber 2 55,5 22 [ 103 | 10/8/98
32 | -Andy 3 25.5 29 | 104 | 10/7/98
58 | Rusty 10 35,0 31 | 102 | 11/10/98
G4 | Horatio 7 35.0 31 | 103 | 11/6/98
T Zorba 10 16.0 31 104 |1 11/12/98
74 | Horatio 35.0 G4 | 101 | 9/5/98
85 Art 25.5 64 | 102 | 9/8/98
25 Boh G3.5 74 | 103 | 8/8/98

Table 3 : Boats B

Bid | Bname Color
101 | Interlake | blue
102 | Imterlake | red
‘105 | Clipper | sreen
104 | Mavine red

Which of the following relational algebra querv/queries computes/compute the name of
sailors who have reserved boat 1037

Q1  ename (( Ovia =103 Boats) =1 Sailors)
Q2 7 sname ( dwia =103 (Reserves ™ Sailors))
Q3 7 name ((Oria=103 Reserves ) = Sailors)

[Question ID = 408][Question Description = 193_87_Computer_Science_0CT22_Q93]
1. Both Q1 and Q3

[Option ID = 1629]
2. Both Q2 and Q3

[Option ID = 1630]
3. Only @3

[Option ID = 1631]
4. Only Q2

[Option ID = 1632]



4)

Read the following and Answer the guestions:

Conzider the relational schema of zailors 5. Reserves R and Boats B.

Table 1 : Sailors S Table 2 : Reserves R
Sid | Sname | Ratting | Age Sid | Bid | day
22 | Dustin T 45.0 22 | 101 | 10/10/98
29 | Brutus 1 33.0 22 1102 | 10/10/88
a1 | Lubber 2 55,5 22 [ 103 | 10/8/98
32 | -Andy 3 25.5 29 | 104 | 10/7/98
58 | Rusty 10 35,0 31 | 102 | 11/10/98
G4 | Horatio 7 35.0 31 | 103 | 11/6/98
74 | Horatio 35.0 G4 | 101 | 9/5/98
85 Art 25.5 64 | 102 | 9/8/98
25 Boh G3.5 74 | 103 | 8/8/98

Table 3 : Boats B

Bid | Bname Color
101 | Interlake | blue
102 | Imterlake | red
‘105 | Clipper | sreen
104 | Mavine red

Which of the following relational alzebra query computes the names of sailor who have
rezerved all hoats?

[Question ID = 409][Question Description = 194_87_Computer_Science_0CT22_Q94]

1. p (Tempsids. (muia Reserves) / mvia Boats) 1 mame ((Tempsids) b Sailors)

[Option ID = 1633]
2. p (Tempsids, (wsd bd Reserves) / mwd Boats) 7 aame ((Tempsids) B Sailors)

[Option ID = 1634]
3. p (Tempsids. ( ws4 Bailors)/ mria Boats) meame ((Tempzids) 1~ Sailors)

[Option ID = 1635]
4. p (Tempsids. ( 15a Reserves) / myid Beats) 7 mame ((Tempsids) 1 Boats)

[Option ID = 1636]



5)

Read the following and Answer the guestions:

Conzider the relational schema of zailors 5. Reserves R and Boats B.

Table 1 : Sailors S Table 2 : Reserves R
Sid | Sname | Ratting | Age Sid | Bid | day
22 | Dustin T 45.0 22 | 101 | 10/10/98
29 | Brutus 1 33.0 22 | 102 | 10/10/88
a1 | Lubber 2 55,5 22 [ 103 | 10/8/98
32 | -Andy 3 25.5 29 | 104 | 10/7/98
58 | Rusty 10 35,0 31 | 102 | 11/10/98
G4 | Horatio 7 35.0 31 | 103 | 11/6/98
74 | Horatio 35.0 G4 | 101 | 9/5/98
85 Art 25.5 64 | 102 | &/8/98
25 Boh G3.5 74 | 103 | 8/8/98

Table 3 : Boats B

Bid | Bname Color
101 | Interlake | blue
102 | Imterlake | red
‘105 | Clipper | sreen
104 | Mavine red

Which of the following relational algebra guery computes the names of sailors who have
rezerved a red and a green hoat?

[Question ID = 410][Question Description = 195_87_Computer_Science_0CT22_Q95]
. P (Tempred, Tag ((Sclor = ¢ Boats) < Reserves)). p (Tempgreen, Tsia ((3 color = green
Boata) >~ Reservea)), Teame{Tempred ~ Tempgreen) r~1 Sailors

[Option ID = 1637]
, P (Temphoats 2, {Jeaia = redt Boats) ~ (8 eoler = ‘meen’ Boats)) 7eams (Tempboats 2 e
Regerves)

[Option ID = 1638]
Mename ((Beolor = reg Boats) v (Ocolor = ‘oreen Boats) (Temphoats 2 0= Sailors o

Reserves))

3.

[Option ID = 1639]

4. p (Tempboatz 2. (§ color = red * wlor="green’ BOALS) 7 gname (Temphoats 2 &4 Sailors)
[Option ID = 1640]

Topic:- 87_PART_C_Set1

R Based on the following passage. answer the Questions

A 53000 km long trunk operates at 1.536 mbps and iz used to transmit 64 bytes frames and
usesz sliding window protocol. The propagation speed 18 6 1 sec/lon.

The transmission and propagation delavs are respectively



[Question ID = 411][Question Description = 196_87_Computer_Science_0CT22_Q96]
1. Ty=2353.33 itsec. To= 18000 pzec
[Option ID = 1641]

2. T:=300 psec, Tp= 15360 i =ec

[Option ID = 1642]
3. Ti=233.33 psec. Tp= 1800 psee

[Option ID = 1643]
4. T:=1800 psec, Tp=33.33 usec

[Option ID = 1644]

2) Based on the following passage. answer the Questions

A 3000 km long trunk operates at 1.536 mbps and 1= used to transmit 64 bytes frames and
usesz sliding window protocol. The propagation speed 15 6 | sec/lan.

The minimum number of bits required 1n the sequence number field of the packer 15
[Question ID = 412][Question Description = 197_87_Computer_Science_0CT22_Q97]
1. 6 bits

[Option ID = 1645]
2. 7bits

[Option ID = 1646]
3. ohbits

[Option ID = 1647]
4. 4 bits

[Option ID = 1648]

3) Based on the following passage. answer the Questions

A 3000 km long trunk operates at 1.536 mbps and 1= used to transmit 64 bytes frames and
usez sliding window protocol. The propagation speed 1= 6 | zec/lan.

The sender window size to get the maximum efficiency is

[Question ID = 413][Question Description = 198_87_Computer_Science_0CT22_Q98]
1. 108

[Option ID = 1649]
2 109

[Option ID = 1650]
3. 5h

[Option ID = 1651]
4, 56

[Option ID = 1652]

4) Based on the following passage. answer the Questions :

A 3000 km long trunk operates at 1.536 mbps and iz used to transmit 64 bytes frames and
usesz sliding window protocol. The propagation speed 12 6 p 2ec/lan.



If only 6 bits are reserved for sequence number field. then the efficiency of the svstem 1=
[Question ID = 414][Question Description = 199_87_Computer_Science_0CT22_Q99]
1. 0.587

[Option ID = 1653]
2. 0.875

[Option ID = 1654]
3. D578

[Option ID = 1655]
4. 0.50

[Option ID = 1656]

%) Based on the following passage. answer the Questions :

A 3000 km long trunk operates at 1.536 mbps and is used to transmit 64 bytes frames and
usesz sliding window protocol. The propagation speed 12 6 p 2ec/lan.

The maximum achievable throughput is

[Question ID = 415][Question Description = 200_87_Computer_Science_0CT22_Q100]
1. 0,768

[Option ID = 1657]
2 0,678
[Option ID = 1658]
3. 0901

[Option ID = 1659]
4. 0.887

[Option ID = 1660]
Topic:- 11_GP_SH1_Set1_A

1)

The following table shows the percentage (%) distribution of total number of students and
total number of girls studying in s1% colleges A-F. Total number of students and givls studving
in all the colleges together are 60000 and 24000 respectively, Based on the data 1n the table.
answel' the questions 1-5

College-wise Ihstribution of Students

College Distribution (%)
Students Girls
{out of 60000) (out-of 24000)

A 10% 15%
B 9% 12%
c 25% 18%
D 18% 14%
H 16% 20%
F 24% 21%




i Bl 1 e 1 B T o L L W B o o i B 11 e 0 e B i e o1 2 | e 1 e o 1= e
e Winerd (%) SeAT 21 Wl HeElawerEl § #Sagr Ay F AsHat s B T wE: 60000
A1 24000 7| T F TR F AER WU 1-5 % T A

HETI=rTeTE —= (e = e

e TEET (%)
(60000 5 =) (24000 5 =)
A 10% 15%
B 0% 12%
G 23%, 18%
D 18% 14%
E 16% 20%
F 24% 21%

The difference hetween the number

FEEEeE D B HSS99E == i S

[Question ID = 516][Question Description

1 4p40
[Option ID = 2061]
2. 4080

[Option ID = 2062]
3. 7440

[Option ID = 2063]
4. 3360

[Option ID = 2064]

2)

of boys and number of girls studying in College D 1s

A SETHd] % O & S B 6 AT 2 ¢

= 101_00_General_19_SEPT22_QO01]

The following table shows the percentage (%) distribution of total number of students and
total number of givls studying in 2ix colleges A-F. Total number of students and givls studyving
in all the colleges together are G0000 and 24000 respectivelv. Based on the data in the table,
answel the questions 1-5;

College-wise Distribution of Students

College Distribution (%)
Students Girls
(eut of 60000) (out of 24000)

A 10% 15%
B 9% 12%
& 73% 18%
D 18% 14%
E 16% 20%
F 24% 21%




e Tl o o W e = 2 o B i 17 e e e | e s o 7 e 7 s e 2 e 0
e Winerd (%) SeAT 21 Wl HeElawerEl § #Sagr Ay F AsHat s B T wE: 60000
AT 24000 2| T F SWT F IEW T 0T 1-5 % 55 A0

HETI=rTeTE —= (e = e

HIEE] 771 (%)
(60000 5 =) (24000 5 =)
A 10% 15%
B 8% 12%
G 23% 18%
D 18% 14%
E 16% 20%
F 24% 1%

The number of givl students studving in College C as a percentage of the number of boys
studyving in Colleze E 1=

BREEn=a E § HE5E w@edl i S % U6en % #0 § Haiaened O § A SEAl S
[Question ID = 517][Question Description = 102_00_General_19_SEPT22_Q02]
1. 7py.0
10 %

[Option ID = 2065]

[Option ID = 2066]
3 80%

[Option ID = 2067]
4. a0%

[Option ID = 2068]

3)
The following table shows the percentage (%) distribution of total number of students and

total number of givls studying in 2ix colleges A-F. Total number of students and givls studyving
in all the colleges together are 60000 and 24000 respectively, Based on the data 1n the table,
answer the questions 1-5;

College-wise Distribution of Students

College Distribution (%)
Students Girls
(eut of 60000) (outof 24000)

A 10% 15%
B 9% 12%
& 73% 18%
D 18% 14%
E 16% 20%
F 24% 21%




i Bl 1 e 1 B T o L L W B o o i B 11 e 0 e B i e o1 2 | e 1 e o 1= e
ot Tiaer (%) r;la:rlrﬁ 21 ol TElEEneET § s EEaEy s F‘I—‘:'.'II:-ﬁl'Pf = E gl T FET: 60000
3T 24000 7| THT F S F 97 90 1-5 % =90 A

HETEEEE —aT (S 1 Ea

e TEET (%)
(60000 5 =) (24000 5 =)
A 10% 15%
B 0% 12%
G 23%, 18%
D 18% 14%
E 16% 20%
F 24% 21%

The averaze of the number of bovs studying 1n Collezes A. B and Cis

A B 3W C oafaaed § 35997 @oF ) O W 5088 FaA 27

[Question ID = 518][Question Description = 103_00_General_19_SEPT22_Q03]

T 4000
[Option ID = 2069]
2. 4700

[Option ID = 2070]
3. 4400

[Option ID = 2071]
4 4800

[Option ID = 2072]

4)
The following table shows the percentage (%) distribution of total number of students and

total number of givls studying in 2ix colleges A-F. Total number of students and givls studyving
in all the colleges together are G0000 and 24000 respectivelv. Based on the data in the table,
answel the questions 1-5;

College-wise Distribution of Students

College Distribution (%)
Students Girls
(eut of 60000) (out of 24000)

A 10% 15%
B 9% 12%
& 73% 18%
D 18% 14%
E 16% 20%
F 24% 21%




i Bl 1 e 1 B T o L L W B o o i B 11 e 0 e B i e o1 2 | e 1 e o 1= e

ot Tiaer (%) r;la:rlrﬁ 21 ol TElEEneET § s EEaEy s F‘I—‘:'.'II:-ﬁl'Pf = E gl T FET: 60000

AR 24000 2| TAFT F S F IGE WU 1-5 % 390 A0
HETE==E —an [FaneE F Eam

e TEET (%)
(60000 ¥ 1) (24000 9 =)
A 10% 15%
B 0% 12%
C 23% 158%
D 18% 14%
E 16% 20%
F 24% 21%
The number of girls in College F 18..........% more than the number of girls 1n College A,

1 e = B ot e = i =1 o 2 N ot 221 e = e e M e s e s e o

[Question ID = 519][Question Description = 104_00_General_19_SEPT22_Q04]

1.

2.

3.

4.

5)

25

[Option ID = 2073]
30

[Option ID = 2074]
40

[Option ID = 2075]
20

[Option ID = 2076]

The following table shows the percentage (%) distribution of total number of students and
total number of givls studying in 21x colleges A-F. Total number of students and givls studying
in all the celleges together are 60000 and 24000 respectivelv. Based on the data in the table,
answel the questions 1-5;

College-wise Distribution of Students

College Distribution (%)
Students Girls
{eut of 60000) (out of 24000)

A 10% 15%
B 9% 12%
& 23% 18%
D 18% 14%
E 16% 20%
F 24% 21%




el wier 37 wEiaEe A-F 5 S [SEnee S B WeT W6 SsehA % 5 S H

fareeT e (%) SR 21 Wl HeTEETeE H RS AT A TSRl i B JEE FE9 60000

AT 24000 2| TTFT 5 =W F 597 WU -5 % 35 A
= o 7

— TEET ()
EEICil ST
(60000 5 =) (24000 5 =)
A 10% 15%
B 8% 12%
C 23% 18%
D 18% 14%
E 16% 20%
F 24% 1%

The ratio of the number of bovs in College F with the number of boys in College D is

T B =S o S W gaiasned D H S T HS H A e B ¢
[Question ID = 520][Question Description = 105_00_General_19_SEPT22_Q05]
1. 31:39

[Option ID = 2077]

2. 39:51
[Option ID = 2078]
3. 29:37

[Option ID = 2079]
4. 3799

[Option ID = 2080]
Topic:- 11_GP_SH1_Set1_B

1 o ) :
) In crder to develop students holistically a teacher should emphasize on

Tt % wag =9 H {9 6 o ) s w1 e 0 6 T W A g =ien

[Question ID = 521][Question Description = 106_00_General_19_SEPT22_Q06]

- subject knowledge only

[Option ID = 2081]
2. remedial claszes for slow learners

[Option ID = 2082]
3. explain the concept well

STHST W1 S-S 9 T

[Option ID = 2083]
4. outcome bazed education along with value education

el JEH] e % wa-wa ahems s e



2)

[Option ID = 2084]

Which of the following levels of Bloom's taxonomy ig achieved by rote learning”

T T ATH T HEleE § d S S w5 A —H G T a1 A A

[Question ID = 522][Question Description = 107_00_General_19_SEPT22_Q07]

1.

4.

Remembering

THIO AT

[Option ID = 2085]
Applyving

[.H]- LR e

[Option ID = 2086]
Analysing

[Option ID = 2087]

Understanding

AT

[Option ID = 2088]

Match Tast T with List IT :

List IT
(Learning Definitions) {Proponent)
(A) Learning is an organization of behaviour. (I} Guilford

(B} Learning 1z the change in behaviour resulting from | (II) Skinner
behaviour.

{C) Learning iz selecting the appropriate response and | (III) Garvet
connecting with the stimulus.

(D) Learning iz a process of progressive behaviour adaption. | (IV) Theorndike

Choose the correct answer from the options given below ;

r-

THI-1%F 17 T G-I 9 Fif=e -

711
(s i aframm) (wia w1576
(A) TH =EEE F AT 7 ) s
(B) SI0TH =IEEW F GRS SI9ET § TREed 7 (II) T=Fw
(C) wAter™ FHMET TR & S99 T 50 59 IEwE | wen Al | (1D e
(D) e wfesfies =9ew SHFeH 1 T O 2| (IV) g+

d= fou v farear 5 T 39 1 =99 Haw

[Question ID = 523][Question Description = 108_00_General_19_SEPT22_Q08]

(AMD, (B(IID, (C)-(IL). (D)-(IV)




[Option ID = 2089]
2. (AIV)(BY-IID. (C)-(I0. (D)-(1)

[Option ID = 2090]
3. (A)(IID. (B)-(IV), (C)«(I), (D)-(I)

[Option ID = 2091]
4. (A)HIID), (B)-(I). (C)-(IV). (D)-(IT)

[Option ID = 2092]

4)  Which of the following 1z a Group-centered method of teaching-learning?

THETEATES H HA-H T AT = Uk HHE - g F
[Question ID = 524][Question Description = 109_00_General_19_SEPT22_Q09]
1. Providing lecture notes
[Option ID = 2093]
Team-teaching
L

[Option ID = 2094]

3. Demonstration method

9'*.5;;1 Juﬁ

[Option ID = 2095]
4. Bralnstorming

IEEie-ti

[Option ID = 2096]

5 . . . .
) Criven below are two statements : One 12 labelled as Assertion A and the other 1= labelled as
Reason R.
Assertion (4):  Dizcuszion forums are one of the Four Quadrants for MOOC.
Reaszons (R) ! Discussion forums are in-bult feature of learning management systems

{LMS).

In the light of the above statements. choose the most appropriate dnswer from the options
given below :

5= 71 W o0 E  wh sT9ee (Assertion (A)) % =9 § @S 2 A T 39% FA0 (Reasons (R))

ATHI (A) il O T o | L 0B e e e e

P (R) : ==t o siferm e e (weEe) #1 s e )
- . -, ¥ o _as P b = i

IFE FUE AR °H, {4 150 T (g " H O 39 3T =T ;ﬁﬁmr g

[Question ID = 525][Question Description = 110_00_General_19_SEPT22_Q10]

- Both (A) and (R) are correct and (R} is the correct explanation of (4)



(A) 3T (R) 21 |1 & =% (R), (A) i =& == 2

[Option ID = 2097]
2. Both (4) and (R) are correct but (R) 1s NOT the correct explanation of (A)

(A) #1 (R)5F1 5# 2, =A (R), (A) 51 81 =gmea 44 2

[Option ID = 2098]
3. (A) 1s correct but (R) is not corvect

(A) TF 2, w (R) 591 951 7

[Option ID = 2099]

4. (A) iz not correct but (R) 1s correct
(A) = 2, Wi (R) 2

[Option ID = 2100]

6) FResponses to open-ended questions are
T 91 F WA SHFAT w

[Question ID = 526][Question Description = 111_00_General_19_SEPT22_Q11]
1. Quantifiable

r P N
FEHETEA (SRR )

[Option ID = 2101]
2. Realistic

AT
[Option ID = 2102]

3. Bubjective

i i

e

[Option ID = 2103]
4. Tmitative

[Option ID = 2104]

7 Which one of the following 13 a tool of grounded theory?

st fagia F1 Fetetga 1§ wbE s (79) 77

[Question ID = 527][Question Description = 112_00_General_19_SEPT22_Q12]
1. Constant comparison

r -. T
[Option ID = 2105]

2. Aunditing
[Option ID = 2106]

3. Deconstruction of narratives



HIEE T TAAmEATET ()

[Option ID = 2107]
4. TUse of uncritical language

[Option ID = 2108]

8)

Which of the following are sources of data in historical research?

(A)
(B)
(C)
(D)
(E)

Personal obzervation
Focused group discussion
Oral testimony

Relics

Actuaries

Choose the correct answer from the options given below :

e i B o o s B 5 e A 2

(Ay TS IR

(B)  Hi=a (wEes) wgE ==

(C)  Hitgs @i

D) ==

(E)  #Hm=

U T faeEegT § H WA 39T 99 i

[Question ID = 528][Question Description = 113_00_General_19_SEPT22_Q13]

. A B.COnly

F=91 A, B. C

[Option ID = 2109]
2. B. C,D Only

FaAB.C. D

[Option ID = 2110]
3. A C.DOnly

FaF A C.D

[Option ID = 2111]
4. C.D.E Only

FFaC.D. E

[Option ID = 2112]



9)
Which of the following are the actions of an ethnographic researcher?

(A) He zets immersed in the Social Setting.

(B) He avoids collecting documents about the group members he is researching upon.
(C) He ohserves the behaviour of sroup members.

(D) He listens to their conversation.

(E) He does not interview the participants when they are not amenable to observation.

Choose the correct answer from the options given below :

FefleiiEs | 5 FiE SHaA1d 5 570 FeH] ATGEA o i

(&) 7= ot qiEE 3 aEgE A

(B) @ = WA F HeEAl & AW § wAEA 5 5UEW § A=A £, T W 9E ma o A A
(C) 3% 9% F "EEAl & SAawn F TEa o vl

(D) =% 5 A WS S A

(B) =% TAgEl &1 S1EEST 96 =0 =, 96 9 99h90 % 30E 9851 7510 B

fen 0 T3 § ® 59 3 W =99 e

[Question ID = 529][Question Description = 114_00_General_19_SEPT22_Q14]

1. A B.COnly
Fas A, B. C
[Option ID = 2113]
2. A C.DOnly
FaAAC.D

[Option ID = 2114]
3 B.C.DOnly

Fa9 B. C.D

[Option ID = 2115]
4. C,D.EOnly

#95 C. D, E

[Option ID = 2116]

10)
Given below are two statements ;

Statement 1 : Non-probability samples use available respondents and no specific
Selection procedure is followed.

Statement IT : It 1z a fact that non-probabibity samples accurately veflect the

population characteristics.

In the light of the above statements. choose the correct answer from the options given helow :



i e o (e L

T [: SO s SUewd SOETEl I G A AW R G 9 I S 6

AT =T 2

T [L: 97 WF a2 2 1% U TAeE 9iEg 2 A ] i R F Ui e 2

T T B e D e B B i L o e | BB B o e T T

[Question ID = 530][Question Description = 115_00_General_19_SEPT22_Q15]

1. Both Statement I and Statement 1T are true

Fo [ 5 O 54 59 7
[Option ID = 2117]
2. PBoth Statement I and Statement 1T are false
Fo 1 5 I o 9979 2
[Option ID = 2118]
3. Statement I1s true but Statement 1T 1= false
w1 aeg 2, wiw T 1 o950 2
[Option ID = 2119]
4. Statement I is Palse but Statement IT is true

[Option ID = 2120]
1)  Communication apprehension is often deseribed as

AW AT T TH EY 0 90 2E 2

[Question ID = 531][Question Description = 116_00_General_19_SEPT22_Q16]

1. Social relativity

[Option ID = 2121]
2. Peycho-social barrier

TSI AT

[Option ID = 2122]
3. Bocial anxiety

T ST

[Option ID = 2123]
4. Social ambizuity



[Option ID = 2124]

12) The grapevine communication 1s often driven by

- (T9ETET) JU90 URL SHH e 5 8
[Question ID = 532][Question Description = 117_00_General_19_SEPT22_Q17]
External professional agencies
ATl AT T 3

[Option ID = 2125]
2. Competing orgamisations

T T o
[Option ID = 2126]
3. Top management of an organisation
i 7 % == omeE A
[Option ID = 2127]
4. Social networks of employvess
FHSNAT % AEN A 27 J

[Option ID = 2128]

13)
Human communieation involves
(A) Message transmission
(B) Message reception

(C) Verbal and non-verhal messages
(D) Power-packed messages only

{E) Meszages for non-consumption

Choose the correct gnswer from the options given below :

TTE T g W B R

(A)  zEE

(B) = wEw

(C)  wmfscs st T—anfess a@ea

(D) == i 59 (TEUES) JE

(B)  Fr—swam 2w

o T el B 5 HE 39 0 = i

[Question ID = 533][Question Description = 118_00_General_19_SEPT22_Q18]
. A B COnly
FaT A B C

[Option ID = 2129]
2. B.C.DOnly



#a9 B. C.D
[Option ID = 2130]

3 B.D.EOnly
= B. D. E

[Option ID = 2131]
4. A C.EOnly

FaTA.C.E

[Option ID = 2132]

14 :
) Given below are two statements :

Statement I :  In symbolic communication. power operates through images.
Statement IT ¢ Such an advantage of exercising power does not exist 1 other types of
cominunication.

In the light of the above statements. choose the correct answer from the options given below :

= 7 FeE R 2

Fog I WdFCSE oW O, I a6 9 J SETed 2l

Fq I1:  91F U= 1 ©6 WhE %1 @9 9U9Y & 5% THEl § fEEEE T8 2E B

T TR F A °, 96 7w EEem 8 8 o8 I 6 = i

[Question ID = 534][Question Description = 119_00_General_19_SEPT22_Q19]

' Both Statement [ and Statement IT are true

[Option ID = 2133]
2. Both Statement I and Statement IT are false
Fam 13 I oM #5802

[Option ID = 2134]
3. Statement I iz true but Statement IT is false

2 15909 &, =i Fee I 9509 7

[Option ID = 2135]

4. Statement I is false but Statement IT i= true

F99 I 9O 2, =il w99 [ 9 2

[Option ID = 2136]



15)
Mateh List Twith Last IT :

List I List IT
(Communication context) iRelated factor)
(A) Physical (I}  Group norms
By Cultural (II) Sequential positioning

(C) Social and Psyechological | (III) Tangible environment
(D) Temporal (IV) Value system

Choose the corrvect answer from the options given below !

[

FHI-1 % T4 71 g1 e Hifw :

-1 Te-10
(=rgor T5H ) (T=Tge )
(Ay ifaH (I} =9 5FF
(B) AEFE (II) A TFEF AarEa
(C) FHI=F 3 g (ITT) = T
(D) =ferh (IV) 5= Toret

= Tou m faped § F " 3 W =6 Hian

[Question ID = 535][Question Description = 120_00_General_19_SEPT22_Q20]
1 (AJ(ID), (Bi-(IID). (C-(IV). (D)-(1)

[Option ID = 2137]
2. (AIID). (By-(IV). (Cy=(I). (Dy-(1I)

[Option ID = 2138]

3. {A)IV). (B)-(I). (C)-(IT). (D)-(III)

[Option ID = 2139]
4. (A)D), (B)-(ID. (Cy-(TID. (D)-(IV)

[Option ID = 2140]

16 i :
) Find the average of the squares of the consecutive odd numbers from 1 to 21.

L | 21 % =9 F0F =an Sl % 2 # dEa T8 Fie|

[Question ID = 536][Question Description = 121_00_General_19_SEPT22_Q21]
1162
[Option ID = 2141]
2. 159
[Option ID = 2142]
3. 161

[Option ID = 2143]
4. 160

[Option ID = 2144]



17
) Two numbers are in the ratio of 7:8 . If the difference between the numbers is 30. then find

the numhers.
7 HIEEG T:8 o AU A 41 E 2l A% I WS & 5rd H e 30 2, 7 e # S|
[Question ID = 537][Question Description = 122_00_General_19_SEPT22_Q22]

1. 915,945

[Option ID = 2145]
2. 905.235

[Option ID = 2146]
3. 220, 250

[Option ID = 2147]
4. 210, 240

[Option ID = 2148]

18)
Two Shopkeepers ‘A’ amd ‘B’ sell certain kind of machines at the same list price. However.

shopkeeper "A’ allows two successive discounts of 20% and 15% and shopkeeper ‘B’ allows two
suceesaive discounts of 10% and 25% . Which of the following statements 1s correct?

‘A #R B9 THAER [ivEn T =9 w6 EEE g ged W A 9 i, TR AT 20% #
15% 1 7 FOF T2 T 2 A0 g B 10% 3T 25% 1 7 #0092 5 2| Aeteahes e 8
RaEE T i

[Question ID = 538][Question Description = 123_00_General_19_SEPT22_Q23]

1. A’ offers more discount

[Option ID = 2149]
2. T offers more dizscount

[Option ID = 2150]
3. Baoth A" and ‘B offers saime discount

A" HCB UAH B 90 7

[Option ID = 2151]
4. A’ offers 35% discount and ‘B’ offers 30% discount

‘A" 35% %2 T R 3 B 0% g AW B

[Option ID = 2152]

19) At what percent of compound Interest per annum. a sum of monev will double 1n 14 years?

Tohe Wi i S04 Sl = F1 50§ TF G911 14 F9 1§ 27 T & e 7
[Question ID = 539][Question Description = 124_00_General_19_SEPT22_Q24]
1. 44;_!,'}

[Option ID = 2153]

2%



[Option ID = 2154]
3. 6%

[Option ID = 2155]
4. 6.5%

[Option ID = 2156]

20)  Find the wrong term in the given series: 6. 11. 18, 27, 34. 51. 66. 83

1 e g § TR uE w1 we WA 6. 11, 18. 27, 34. 51. 66. S3

[Question ID = 540][Question Description = 125_00_General_19_SEPT22_Q25]

1. 34
[Option ID = 2157]
2. 51

[Option ID = 2158]
> 83

[Option ID = 2159]
4. 11

[Option ID = 2160]

21) N . : .
If the statement ‘All women are honeat' is given as true. which of the following propositions

can be mferved frrom it7

(A) ‘Wo women 1s honest' is false.

(B ‘Some women are honest’ 1 true,

Q) ‘No women ig honest' 12 undetermined
(D) ‘Some women are not honest' 1s false

Choose the correct answer from the options given helow :
a7 TE FeA- HH SR THERE 7 WE F ET T AT T 2 A 399 FeeEn § |/ Fe e
AT A A 27
(A)  ‘wis i HiEen sAEEE FE 2. A B
(B) ‘TS utrem somEm A, TE
(Cy ‘= oft wlfeen Saan 98 2, e R

(D) 'F9 OiEem HEEE T 2, T A

fan o fageai @ & 94 39 =1 999 FirAn

[Question ID = 541][Question Description = 126_00_General_19_SEPT22_Q26]
. A B.DOnly

Fa9 A B. D

[Option ID = 2161]
2. Band D Only

a5 B3 D

[Option ID = 2162]



3. B.CandD Only

FaA B, C. 70 D

[Option ID = 2163]
4. CandD Only

Fae C @7 D

[Option ID = 2164]

22) )
(iven below are two statements :

Statement I ¢ Tao form the contrapozitive of a given proposition. we replace its subject
term with the complement of its predicate term. and we replace its

predicate term with the complement of 1ts subject term.

Statement T :  All contra pozitions are valid.
In the ight of the above statements, choose the correct answer from the options given below !
= w wE T R

FHAL:  FH UF 4 T AR # TAEeE sAH F o @ G995 W SEE T 9w 5 oEE |

TSI 0 7 W, 59 BE 149E Ug % 30 @99 U5 F U ¥ et e A
g IL: = aidaas 49 7

STIF FYA F AE0F T, 919 50 T 9w 5§ "9 39 F 999 Fran

[Question ID = 542][Question Description = 127_00_General_19_SEPT22_Q27]

1. Both Statement I and Statement IT are true

w131 I o &g 7
[Option ID = 2165]
2. Both Statement I and Statement II are false

[Option ID = 2166]

3. Statement I is true but Statement 11 is false
Fuq L o= 7, =i w4 11 55 2

[Option ID = 2167]

4 Statement Iis false but Statement 1T is true

oA | 96 B, = T4 [ 80 2



[Option ID = 2168]

23 . , . . . . . )
) Which of the logical informal fallacy 1z committed in the following argument "Mr. X used
abusive language toward the child whe threw a stone at hus car. Since child abuse 1= a crime.

he should be reported to the authorities™

e g6 9 FEE Al SHIRIE S TR T A— e TER T S8 S o i GeAdaTd e
AT T, TS SE FE W U TR T a1l g e GeAaER U S 7, SHIET 36 AW T T
1 g1 oAl = 7

[Question ID = 543][Question Description = 128_00_General_19_SEPT22_Q28]
1. Appeal to Emotion

T-FI-:[WIE[ HATA=
[Option ID = 2169]
2. Hasty generalisation
[Option ID = 2170]
3. Eguivocation
[Option ID = 2171]
4. Appeal to force

st Az

[Option ID = 2172]

24)
Given below are two statements :

Statement T :  Anmnstotelian syllogism regards deduction and induction as inseparably
related.
Statement IT :  The Nyvayva school of classical Indian philosophy regards deduction and

induction as two aspects of the same process.

In the light of the above statements. choose the most appropriate answer from the options

given below :
H= T e e E
FR L 9 A A R S AT F YA =Y " a9 2

wua [ : S 9ATE YRR =0 O A 3 APEE W U B UES] F %1 94l R EY

T 2

T FEA F AR §, A9 (50 T @Ee §OH 9EH S0 ST 6 984 6



[Question ID = 544][Question Description = 129_00_General_19_SEPT22_Q29]

1. Both Statement I and Statement IT are true

FoF [ 3 I 59 &a 2
[Option ID = 2173]
2. Both Statement [ and Statement I1 are false
e 1 I/ 7= 7
[Option ID = 2174]
3. Statement I is tinie but Statement IT 1s false
=4 190 2, i $u 1= 2
[Option ID = 2175]
4. Statement I1s false but Statement IT 1= true
g 1 a7, = Fi a3
[Option ID = 2176]

25) In Nvava Svllogism all the three terms stand synthesized 1n which of the following steps of
the inferential process?

= = 1 AAETE TR % FefetEd B O s T 8 o 9 oor afee w2
[Question ID = 545][Question Description = 130_00_General_19_SEPT22_Q30]
1. Example (Udaharana)

ETA LU

[Option ID = 2177]
2. (Conclusion (Nigamana)

£ r

e ()
[Option ID = 2178]
3. Application (Upanava)

EEE R

[Option ID = 2179]
4. Reason (hetu)

[Option ID = 2180]

26 . . s . .
) ‘Which Indian Act makes it 1llegal to knowingly =pread a computer virus?

TR B A R AT s A H FE 9eE e 1 S O G A

[Question ID = 546][Question Description = 131_00_General_19_SEPT22_Q31]
1. Data protection and Security Act. 1997

TR T g AT A, 1997



[Option ID = 2181]

2. Information Security Act. 1993

AT TreT SigEan, 1998

[Option ID = 2182]
3. Information Technology Act. 2000

AT TR ST, 2000

[Option ID = 2183]
4. Computer Mizsuse and Cyber Act. 2009

T TEEINT 9 A S, 2000

[Option ID = 2184]

27)  Congzider the following worksheet:

A | B G D
1 5 10 | 50
2 15 | 50
3 20 |50
=

Which of the following formula should be entered into the eell D1 =0 that when it 1= copled
into the cells D2 and D3, 1t gives the correct values as shown in the range D1: D37

TA=TeEs A - T R

A (B (€ |D

[}
i
i
on
[5]

FgF D1 T W T T FF T 94 T= T AW aiF 99 FgF D2 A D3 T R w0 6 9w A9 DLD3
w1 5 H 70T FET W god W A Y

[Question ID = 547][Question Description = 132_00_General_19_SEPT22_Q32]
' B1*3C81

[Option ID = 2185]
2. $B%1*(C1

[Option ID = 2186]
3. B1*C1

[Option ID = 2187]



4. 3$B31*3C81

[Option ID = 2188]

28
) Which of the following three numbers (A-C) in decimal, octal and hexadecimal nofations.
respectively, 1s/are equivalent to (11011001)= in binary notaticn?
(A) (217,
{B) {661)s
Q) (D96
Choose the correct answer from the options given helow :
TIHE, ALET] AT Ursa JEE #ead § 95 @A (A-C) ¥ H wHE-HiE g9 @%ad § (11011001 )2
= HaE 27
Ay (217,
(B) {661)s
(C) (D9

o 7w faFeTt © 4 wE I H =9 Al

[Question ID = 548][Question Description = 133_00_General_19_SEPT22_Q33]

1. A Only
Hae A
[Option ID = 2189]
2. B Only
a9 B

[Option ID = 2190]
3. Aand B Only

Fae A 37 B

[Option ID = 2191]
4. A and C Only

FAAA A C

[Option ID = 2192]

29 )
) Gaven below are two statements :

Statement [ : Cache memory 1= volatile memory and is much slower than Random

Access Memory (RANM)

Statement IT :  CDs. DVD= and Magnetic Tapes are all optical media devices.

In the lLight of the above statements. choose the correct answer from the options given helow :



= 51w fem o E
FeA 1 o WE UF A9 WA 2 T anies e e (9w T uE) 5 w54 4 2

Fem I 1 S0, 6 A S s geebe 2n wdt wewiE e G A

ST FUE F A O, 49 B TEew § 9 o I o 99 Fien

[Question ID = 549][Question Description = 134_00_General_19_SEPT22_Q34]

- Both Statement T and Statement IT are true

oA [ 3 11 51 |7 2

[Option ID = 2193]
2. Both Statement I and Statement 1T are false

[Option ID = 2194]
3.  Statement Lis true but Statement I is false

Foa 15 2, #fT w9e 11 390 2

[Option ID = 2195]

4 Statement I is false but Statement I is true

F94 1 987 7, A FoE [ 2

[Option ID = 2196]

30) )
Which of the following statements are correct regarding CERT-IN?

(A) CERT-IN is the national nodal agency for responding to computer security incidents
az and when they occur,

{B) CERT-IN 1= operational since January 2014,
(C) Forecast and alert of cvber security inecidents is one of the functions of CERT-IN,

Choose the ecorrect answer from the options given below :
i § AW F-AE = F Wey ° T=eies § 9 HE ° w0 TR A7
(A) 2 R A - WE U g aen ded TeE 6 AH W Ue 7 1Y e e 2|
(B) i3 #W A — @ v S, 2014 | 5= § A

(C)  WTEeR T HEATS F GEAAR FAl 3R W HEA A A S W A — 0 UA o e 9 0

70 T Tl 5 | Hel I = i

[Question ID = 550][Question Description = 135_00_General_19_SEPT22_Q35]
" ABandC



A B#RC
[Option ID = 2197]
2. Aand B Only
FaA A AT B
[Option ID = 2198]
3. Aand C Only
Fae1 A #0 C
[Option ID = 2199]
4. Band C Only
Fa4 B 57 C

[Option ID = 2200]

31) . N : .
(Geothermal field requires combination of following three conditions
(A) A natural underground source of water
(B) A mountain in the vicinity

{C) An impermeable laver
(D) A coal mine in the vicinity

(E) A large mass of hot rock in the vicinity
Choose the most appropriaté answer from the options given belaw :
(A) T WTEEE e 99 @E
(B) HWHEH T A
() U = TEE
(D) =T § U e @
(E) == | 995 79
Fr9 e o el § O Oeh I 3 o =99 A
[Question ID = 551][Question Description = 136_00_General_19_SEPT22_Q36]
- A C.EOnly
FaT A C3TE
[Option ID = 2201]
2. A C.DOnly
FAAACHTD

[Option ID = 2202]
3. B.C.D Oaly

FaE B. C @7 D
[Option ID = 2203]
4. B.D.E Only
Faa B. D37 E

[Option ID = 2204]



32)

Mateh Last T with List IT:

List I Tast IT
(Protocol/Summit) {(Theme)
(A) Paris Agreement (I} Ennssions trading
(B) Eyvoto Protocol (II) Ozone depletion
(C) Rio declaration (IIT) INDCs
(D) Montreal Protoecol (IV) Environment and development

Choose the correct answer from the options given below :

-1 =19 = gEi-I e i

-1 =

(= /o) (forma)

(A) ofem FaE () =ose =mn

(B) 2 AR () (I)  =T7m FFem
(C)  frm zEmm (I =7 v 21 4 v
(D) =i TR (W) (IV) =T = T

/= fom 0 T © 1 AR I w5 =999 S

[Question ID = 552][Question Description = 137_00_General_19_SEPT22_Q37]
T (AT, (B)-(I). (C)«(IT). (D)(IV)

[Option ID = 2205]
2. (A)(D), (B)-(ID). (O)-(TV), (D)-(TIT)

[Option ID = 2206]
3. (AYIID), (B)-(I). (C)-(IV). (D)-(ID)

[Option ID = 2207]
4 (A)-(D). (B)-(ID), (C)-(IIT), (DI-(IV)

[Option ID = 2208]

33)

Given helow are two statements ;

Statement [ :  Natural erosion of the soil is gradual removal of the top soil by natural
processes.
Statement IT :  Agcelerated ercsion of the =il 1= caused due to man made activities. The

rate of accelerated erosion i= equal to the rate of soil formation.

In the light of the above statements. choose the correet answer from the options given helow :



4 o1 FoE TRr T A

I: =@ T WEIR g4, TR S g S AR H6E A A
T2 IL: a1 A Y470 Al e & R A 2| T, Y-S0 i o7 957 9 T 6 O
L]
TP FAA F ATEE A, 59 e e § e w = i

[Question ID = 553][Question Description = 138_00_General_19_SEPT22_Q38]

1.

Both Statement I and Statement IT are true

o 1 37 115 979 &

[Option ID = 2209]
2. Both Statement I and Statement IT are false

Fo 1 #R I 5H 980 =

[Option ID = 2210]

3.

Statement I is true but Statement II 1s false

w99 19 2, 9 %99 11 99 2

[Option ID = 2211]

4.

Statement I is false but Statement II 1= true

o I 3 7, WA FgA 0 A &

[Option ID = 2212]

34)

Chlorine in drnking water 1s used for

(A)
(B)
()
(D)
(E)

Dizinfection
Removal of hardness
Odor treatment
turbidity control

Removal of iron and manganese

Choose the correct answer from the options civen below :

UH Al § FAAE ) TEN S 8 T R % e ) e w7

FEEAT T

(A)
(B)
(C)
(D)
(E)

g IET

T30 T T=EET § | HAE S S =E R




[Question ID = 554][Question Description = 139_00_General_19_SEPT22_Q39]

1.

4.

35)

A C.E Only

Fae A, CHT E

[Option ID = 2213]
A B, COnly

FaF A B3w C

[Option ID = 2214]
A. D. E Only

FaE A, D 3 E

[Option ID = 2215]
C. D. E Only

FTAC.DFETE

[Option ID = 2216]

Given below are two statements :

Statement I : Volatile Organic Chemicals (VOCs) are among the most commonly found

contaminants in ground water.

Statement 11 : The concentration of VOCs in ground water is much less compared to

that in surface waters.

In the light of the above statements. choose the correct answer from the options ziven helow :

i =1 Y T T E

Fe 1 : TS S T (), g9 § W 5 e mﬂ.’rrﬂmﬁ@—wﬁ g

FeR IL:  FF T AT FOHGT 98 T HGeET 5 Fw6 FE A

I FUE % AT H, A 50 T 9w O | HEl 300 H =99 i

[Question ID = 555][Question Description = 140_00_General_19_SEPT22_Q40]

1.

2.

3.

Both Statement I and Statement II are true

F24 I 5 I oHi o9 2

[Option ID = 2217]
Both Statement I and Statement IT are falze

[Option ID = 2218]

Statement I is true but Statement IT 1s false



F94 18eg 2, w4 94 11 559 2

[Option ID = 2219]

4. Statement [1s false but Statement IT is true

79 1 9579 &, wiaA F99 [ 53 2

[Option ID = 2220]

36)
Which Educational Institution was the first to start colleze classes for women?
QE o T = e B e = e Mot B e o | e 0 e L 1 o e 0 e e e e e

[Question ID = 556][Question Description = 141_00_General_19_SEPT22_Q41]
1. Central Hindu Girls Schoal

i oy e e

[Option ID = 2221]

2. Vasanta College

; =

[Option ID = 2222]
3. MNhranda House

[Option ID = 2223]
4. Bethune School for Girls

[Option ID = 2224]
37)  Indira Gandhi National Open University was established in the vear

[Question ID = 557][Question Description = 142_00_General_19_SEPT22_Q42]
11975
[Option ID = 2225]
2. 1980
[Option ID = 2226]
3. 1985
[Option ID = 2227]
4. 2000

[Option ID = 2228]

38)  Which goal of the 2030 Agenda for Sustainable Development adopted by India in 2015 seeks
to “engure inclusive and equitable quality education and promote lifelong learning

opportunities for all™?



WIR ET T 2015 A SE A9 GEE F v 2030 FEOE w1 A6 @ w5 5 F e e s
AT AT e AT e A A A sEe A A 22

[Question ID = 558][Question Description = 143_00_General_19_SEPT22_Q43]
' Goal 2

5T 2

[Option ID = 2229]
2. (Gpal4

il

[Option ID = 2230]

3. Goal6
w6
[Option ID = 2231]
4. (Goal 15
5T 15

[Option ID = 2232]

39 i .
) Given below are two statements :

Statement [ : The National Education Policy 2020 envisages that the extant 10+3
structure in School Eduecation will he modified with a new pedagogical
and curricular restructuring of 5+4+443 covering ages 3-18,

Statement IT :  The National Edueation policy 2020 envizages, that prior to the age of
5 every child will move to a "Preparatory class” or “Balvatika”. which
has an ECCE- gualified teacher.

In the light of the above statements. chooze the most appropriate answer from the options

given below :

FgA 1. TEE e il 2020 w1 feE R F EEeE AT O aanE 1042 3 w9 fogeneE d@m
TEEE TS 6 A A W 3-18 AET F S0 5+4+443 W e s A1)

Fom I0:  TIEE TomT 19 2020 F1 fO9w 2 TF w9 99 3 FR 9 W T A= UF aAnl FwAn @ Cane
AN H HA AE U 5 HLHE - SR I s =
TR FYA F AEE 4, 9 T e § A geE 395 30 1 S i

[Question ID = 559][Question Description = 144_00_General_19_SEPT22_Q44]

1. Both Statement I and Statement II are correct

oA I3 A =91 7

[Option ID = 2233]

2. Both Statement I and Statement II are incorrect



Fe [ &0 I =M e 7

[Option ID = 2234]
3. Btatement I is correct but Statement II 1s incorrect

Fad I A 2, wF e e

[Option ID = 2235]

4. Btatement I 1= incorrect but Statement IT 1s correct

FoA [ 7A 7, A e IO 7

[Option ID = 2236]

40)
The National Education Policy (2020) has recommended the replacement of the UGC by an
umbrella organization. the Higher Education Commission of India (HECI) wath its four
Verticals, namely-

(A) National Higher Educational Regulatory Council
(B) General Educational Council

(Cy  Medical Council of India

(D) National Accreditation Couneil,

(E) Higher Education Grants Council.

Choose the most appropriate answer from the options given below :
e foEn JifE (2020) 7 2SN T TR TA-ETeT ° UEed e R s fi 7 TEEew am awes
T 9T A (UELS AT ) AT S W SsAta A e -

(A) TEE = SEPE A TR
(B) = S aie

(C) WAt Tatem qims

(D) TEE TR T

(E) == [oa0 HaH s

= fom 7o faepeal ® @ weE S9EF I F g A

[Question ID = 560][Question Description = 145_00_General_19_SEPT22_Q45]
. A B C.DOnly

Fa4 A.B.C.D

[Option ID = 2237]
2. B.C.D, EOnly

77 B.C,D. E

[Option ID = 2238]
3. ‘A C.D.EOnly

Fa9 A C.D. E

[Option ID = 2239]
4. A B D, EOnly



=7 A.B.D. E

[Option ID = 2240]

Topic:- 11_GP_SH1_Set1_C

1)

1.

Read the following passage and answer gquestions from question:

Certain languages came to aeguire a special status introduced by religious leaders, scholars.
or conguerors. Sometimes they became the basis of power and privilege. A language spolen
by a small minorty. such as Latin in Medieval Europe could become the medium of
scholorship, of vecord-keeping and of religious ceremony. A language introduced by
conguerors. who became a ruling and landed elhte. would be used in commerce.
administration and law. During the era of uinperialism, the languages of colonial powers
became the languages of administration. codified laws. higher education. science and
technolozy in their own colonies. This held hack the develoopment of older languages
excluded from these spheres. To a varving extent. languages such as English and French Still
hold this position in some of the now independent nations of Asia and Afiiea. This can create
problems within these states. as well as between neighbouring countries. notably in West
Africa and the Caribbean. These have emerged from subjection to different alien powers.
Words are symbols of human experience. Perceptions underlving them have undergone
change over time and in response to new situations. Moreover. all languages ave in a state of
change sometimes gradual. sometimes rapid. They respond to new needs arising from
developments in thought and knowledge. in productive technigques. in social relationships. in
political and economic structures. Words, therefore, change their meanings and acquire frezh
applications; specialised technical terms pass into general usage. And new words are
invented. The process remunds us that lansuage is not a corpus of learning, but an
mnstrument adapted to human purposes.
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Historieally. minority languages were the basis of
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[Question ID = 561][Question Description = 146_00_General_19_SEPT22_Q46]

Medieval culture



2.

3.

4.

2)

T TR

[Option ID = 2241]
Cultural independence

[Option ID = 2242]
Scholarship

h‘di
[Option ID = 2243]
Religious harmony

Ko

[Option ID = 2244]

Read the following passage and answer guestions from question:

Certain languages came to aeguire a special status introduced by religious leaders, scholars.
or conguerors. Sometimes they became the basis of power and privilege. A language spolen
by a small minority, such az Latin in Medieval Europe could become the medium of
scholorship, of record-keeping and of religious ceremony. A language introduced by
conguerors. who became a ruling and landed elhte. would be used in commerce.
administration and law. During the era of imperialism, the languages of colomal powers
became the languages of administration. codified laws. higher education. science and
technolozy in their own colonies. This held hack the develoopment of older languages
excluded from these spheres. To a varving extent. languages such as English and French Still
hold this position in seme of the now independent nations of Asia and Africa. This can create
problems within these states. as well as between neighbouring countries. notably in West
Africa and the Caribbean. These have emerged from subjection to different alien powers.
Words are symbols of human experience. Perceptions underlving them have undergone
change over time and In response to new situations. Morsover, all languages ave in a state of
change sometimes gradual. sometimes rapid. They respond to new needs arising from
developments in thought and knowledge. in productive technigques. in social relationships. In
political and economic structures. Words, therefore, change their meanings and acquire frezh
applications; specialised technical terms pass into general usage. And new words are
mmvented. The process remunds us that lansuage is not a corpus of learning, but an
mstrument adapted to human purposes.
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The lanzguage of the conguerors was used mn
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[Question ID = 562][Question Description = 147_00_General_19_SEPT22_Q47]
1.

Ruling over landed elite

T AT W IS A T

[Option ID = 2245]
The admimstration of law

FHA F TOEA |

[Option ID = 2246]

Colenising the other countries

[Option ID = 2247]
Creating social inclusiveness

[Option ID = 2248]



3)

Read the following passage and answer guestions from guestion:

Certain languages came to acguire a special status introduced by relimious leaders, scholars.
or conguerors. Sometimes they became the basis of power and privilege. A language spolken
by a small minorty. such as Latin in Medieval Europe could become the medium of
scholorship, of record-keeping and of religious ceremony. A language introduced by
conguerors. who became a ruling and landed ehte. would bhe used in commerce.
adminmistration and law., During the era of imperialism, the languages of colonial powers
became the languages of administration, codified Iaws. higher education. science and
technology in their own colonies. This held back the develoopment of older languages
excluded from thesze spheres. To a varving extent. languagzes such as English and French Still
hold this position in some of the now independent nations of Asia and Afriea. This can create
problems within these states. as well as between neighbouring countries. notably in West
Africa and the Carbbean. These have emerged from subjection to different alien powers.
Woards are symbols of human experience. Perceptions underlving them have undergone
change over time and in response to new situations. Moreover. all languages are in a state of
change sometimes gradual. sometimes rapid. They respond to new needs arising from
developments 1n thought and knowledge. in productive technigues. in social relationships. in
political and economic structures. Words, therefore, change their meanings and acqguire fresh
applications: specialised technical terms pass into general usage. And new words are
invented. The process remunds us that lansuage 1s not a corpus of learning, but an

mstrument adapted to human purposes.
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Imperialism was responsible for
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[Question ID = 563][Question Description = 148_00_General_19_SEPT22_Q48]

1.

2.

Codification of law

[Option ID = 2249]
Racial equity

TEATE AT



4.

4)

[Option ID = 2250]

Primacy of local languages

T HIEE] F1 WH
[Option ID = 2251]
Exclusion of old languages

[Option ID = 2252]

Read the following passage and answer guestions from guestion:

Certain languages came to aeguire a special status introduced by religious leaders, scholars.
or conguerors. Sometimes they became the basis of power and privilege. A language spolken
by a small minorty. such as Latin in Medieval Europe could become the medium of
scholorship, of vecord-keeping and of religious ceremony. A language introduced hy
conguerors. who became a ruling and landed elhte. would be used in commerce.
administration and law. During the era of unperialism, the languages of colonial powers
became the languages of administration, codified Iawe. higher education. =science and
technology in their own colonies. This held back the develoopment of older languages
excluded from these spheres. To a varving extent. languages such as English and French Still
hold this position in some of the now independent nations of Asia and Afriea. This can create
problems within these states. as well as between neighbouring countries. notably in West
Africa and the Caribbean. These have emerged from subjection to different alien powers.
Words are symhbols of human experience. Perceptions underlving them have undergone
change over time and in response to new situations. Moreover. all languages ave in a state of
change sometimes gradual. sometimes rapid. They respond to new needs arising from
developments in thought and knowledge. in productive technigques. in social relationships. in
political and economic structures. Words, therefore, change their meanings and acquire fresh
applications; speciahised technical terms pass into general usage. And new words are
invented. The process remunds us that lansuage is not a corpus of learning, but an
mmstrument adapted to human purposes.
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One of the characteristics of languages is
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[Question ID = 564][Question Description = 149_00_General_19_SEPT22_Q49]

1.

2.

3.

5)

Constant change in meaninegs of words

 E R

[Option ID = 2253]
Subjection to different alien powers,

[Option ID = 2254]

The ability to survive against heavy odds.

[Option ID = 2255]

Their monopoly by the elites,

AT G 39 W OHIAER

[Option ID = 2256]

Read the following passage and answer guestions from guestion:

Certain languages came to acguire a special status introduced by religious leaders, scholars.
or conguerors. Sometimes they became the basis of power and privilege. A language spolken
by a small minority. such as Latin in Medieval Europe could become the medium of
scholorship, of vecord-keeping and of religious ceremony. A language introduced by
conguerors. who became a ruling and landed ehte. would be used in commerce.
adminmistration and law., During the era of unperialism, the languages of colonial powers
became the languages of administration. codified Iaws. higher education. science and
technology in their own colonies. This held hack the develoopment of older languages
excluded from these spheres. To a varving extent. languagzes such as English and French Still
hold this position in some of the now independent nations of Asia and Afviea, This can create
problems within these states. as well as between neighbouring countries. notably in West
Africa and the Caribbean. These have emerged from subjection to different alien powers.
Words are symhbols of human experience. Perceptions underlving them have undergone
change over time and in response to new situations. Moreover. all languages are in a state of
change sometimes gradual. sometimes rapid. They respond to new needs arising from
developments in thought and knowledge, in productive technigues. in social relationships. 1n
political and economic structures. Words. therefore, change their meanings and acquire fresh
applications: specialised techmical terms pass into general usage. And new words are
invented. The process remunds us that language i1z not a corpus of learming, but an
mstrument adapted to human purposes.
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The passage analyses lansuagez as a

Tw TS AT TETA e w9 H HAT A ¢

[Question ID = 565][Question Description = 150_00_General_19_SEPT22_Q50]

1.

2.

3.

4.

Corpus of learning

[Option ID = 2257]
Symbol of State power

T -1 1 TAF

[Option ID = 2258]
Tool 1o meet human purposes

HAATE AT R BT ST
[Option ID = 2259]
Formal link between old and new generations.

[Option ID = 2260]






